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T k) O REICKHEEREN], T4,

frame05. fO0 DY —R FTAHTSLDY—RX 31— F(Ver 21MRZ2013)#1BIFTH <,
@T7AYSLDITER/ETRICIE, R—CEHIHITESEZETATED,

1234564t <frame05> for advanced matrix method : 18 August 2008 #itttit

MODULE GLOBALOS !BXFMDRIBHIZERE/N v 7—IfELI=EDa—IL
| IMPLICIT NONE T3 S IFHREROBEETICLLAS I L!

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

CHARACTER ELE_LIB7 A9 5 EHKI-M OXFH| (1 XF)

CHARACTER  CODEx2 AT BEZRDEZRR XY, PL) (2 XF)
o (SYSTEM) ZHE KiSMEHR DR TE

INTEGER :: MENTS | EZRD#RHK

INTEGER :: NODES ! Him sk

INTEGER :: NSECTS ! {HRT HMHEDEEDNHK

INTEGER :: MNODES | —ExHt-Y DEHIBRDH

INTEGER :: MDOFS | —EXRH-YDHAEHEDK

INTEGER :: INPNEQ ! =0 (default)dof#%7 04 FADLEMNTHEFET S
! =1 dof#Z A N7 -4771VTEHEZ %

INTEGER :: INWAIT ! =0(default)/1 AH 7 -9 FedHIZWAIT Zh T+ 5/ (F4E0
- BLav> N
INTEGER :: IPHIDN '=0/1 lBLa<w > FEEZHALEWL/T 5B
INTEGER :: IPELEK !=0/1 ZEHRRBIMTHEEN LGN/ TS
INTEGER :: IPSYSK !=0/1 SYSK ZHHAL%ELN/T B
INTEGER :: IPPVEC !=0/1 PVECRHS) ZHE A L% LN/ T B
INTEGER :: IPSOLV !=0/1 TTLDOF RHS) ZHHA LKL/ T B
INTEGER :: ICGINI '=0/1 #IEARZAKD Win3D 7740 % {ESELV/1ED
INTEGER :: ICGDEF !=0/1 ZERRZAKD Win3D 7740 % ESELV/1ED
INTEGER :: ICGXLS !=0/1 B¢ T—R THS XLS77{h%&x {ESEL/1ESD 27/JAN/2005
INTEGER :: NCGDEF !'=10/100 (Y EZRDOEREROEERX 5K
REAL (8) :: SCGDEF !=1./10./100. /1000. i ZE 4D 53R
! MDOFS: ExHhf-Y DEHEH ——
REAL (8), DIMENSION(:, :), ALLOCATABLE :: ELEK
! | ELEK (MDOFS, MDOFS) ZERRIf44T51
REAL (8), DIMENSION(:, :), ALLOCATABLE :: PQELE I only for B2D_LIN
! | PQELE (MENTS, MDOFS) S 1ifi &7 == B i 7
REAL (8), DIMENSION(:, :), ALLOCATABLE :: BALPQ I only for B2D_LIN
! | BALPQ(MENTS, 4) ##nfirE 58 (Global) PA, QA, PB, OB
REAL (8), DIMENSION(:, :), ALLOCATABLE :: CALPQ ! only for B2D_LIN
! I' CALPQ (MENTS, 4) %> #nfar & 38 (Local) pa, ga, pb, ab
! (NODE)
REAL (8), DIMENSION (:, :), ALLOCATABLE ::UVWNOD ! UVWNOD (NODES, 2) for GG
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REAL (8), DIMENSION (:, :), ALLOCATABLE ::XYZNOD ! XYZNOD (NODES, 2)
! (ELEM) —BERZERT S8R, BEROWMEEEES
INTEGER, DIMENSION (:,:) , ALLOCATABLE :: NODELE ! NODELE (MENTS, MNODES)
INTEGER, DIMENSION (: ) , ALLOCATABLE :: MATSEC ! MATSEC (MENTS)
l-—— (DOF) -Ei RELI DR EH - B HER NDOFS -
INTEGER :: NDOFS | REHDBEHEDHE
INTEGER :: LSKYMAX ! for SYSK(LSKYMAX) when skyline used
INTEGER, DIMENSION (:) , ALLOCATABLE :: LSKYPVT ! LSKYPVT (NDOFS)

INTEGER, DIMENSION (:, :), ALLOCATABLE: :NEQNOD ! NEQNOD (NODES, 3) 2D!
INTEGER, DIMENSION (:, :), ALLOCATABLE: :NEQELE ! NEQELE (MENTS, MDOFS)

REAL (8), DIMENSION (:), ALLOCATABLE, TARGET:: SYSK ! MIf%4751 SYSK(LSKYMAX)

REAL (8), DIMENSION (:), ALLOCATABLE, TARGET:: RHS ! #3318 RHS (NDOFS)

REAL (8), DIMENSION (:), ALLOCATABLE:: TTLDOF ! Z={ii%= TTLDOF (NDOFS)
|- (SECTYP) EA & EI only —————

REAL (8), DIMENSION (:,:) , ALLOCATABLE :: SECTYP ! SECTYP(NSECTS, 2)

! (LOAD)
REAL (8), DIMENSION (:) , ALLOCATABLE :: PVEC I PVEC (NDOFS)
INTEGER :: IAFDFL ! frame99_out open/close control

! (QUIT)
END MODULE GLOBALOS

! main control program <frame05> as of 18 August 2008

PROGRAM frame05
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

1000 WRITE( 6, *)
WRITE( 6,%) ' <frame05> Ver 18August2008 for 2D Frame Structures
WRITE( 6, %) ' All Rights Reserved for DataScience
WRITE( 6, %)
CALL WAIT

WRITE( 6, %)
WRITE( 6, %) ' quit: <frame05> Ver 18August2008 executed’
WRITE( 6, %)
CALL WAIT
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81 !
82 END PROGRAM frame05
83 !
84 SUBROUTINE LINEAR
85 USE GLOBALOS
86 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
87 |
88 WRITE( *, %) ' +——— opened C:¥frame05¥frame05_inp. txt —— +
89 CALL READ_FD_INP
90 WRITE( *, %) ' +——— closed C:¥frame05¥frame05_inp. txt ————— +
91 !
92 CALL OPEN_FD_OUT
93 WRITE(11," (" +———(SYSTEM)
94 1 ")
95 WRITE(11," (5X, “Finite Element used ELE_LIB = “,A7)") ELE_LIB
96 WRITE (11, " (5X, “Nodal Coordinate CODE = ",A2)") CODE
97 WRITE (11, " (5X, “Numb. of Elements MENTS = ", 16)") MENTS
98 WRITE(11," (5X, “Numb. of Nodes NODES = ", 16)") NODES
99 WRITE (11, " (5X, "Numb. of Cross-Sections NSECTS = “,16)') NSECTS
100 ! RLa<y FEOHR ———-
101 IF (IPHIDN/=0) THEN
102 WRITE(11," (5X, "** Classified Control Parameters *x”)")
103 WRITE(11," (5X, “Print this List IPHIDN = ", 16)") IPHIDN
104 WRITE(11," (5X, “Wait Reading Input INWAIT = ",16)") INWAIT
105 WRITE(11," (5X, “Print SYSK IPSYSK = ", 16)") IPSYSK
106 WRITE(11," (5X, “Print ELEK IPELEK = ", 16)") IPELEK
107 WRITE(11," (5X, “Print PVEC IPPVEC = ", 16)") IPPVEC
108 WRITE(11," (5X, “Print TTLDOF IPSOLV = ", 16)") IPSOLV
109 WRITE(11," (5X, “Make Initial W3D File ICGINI = " 16)") ICGINI
110 WRITE(11," (5X, “Make Deformed W3D File ICGDEF = “,16)") ICGDEF
111 WRITE(11," (5X, “Make Ini/Def XLS File ICGXLS = “,16)') ICGXLS !27/JAN/2005
112 WRITE(11," (5X, “Numb. of CG Segments NCGDEF = “,16)') NCGDEF
113 WRITE(11," (5X, "Scale for Deformation SCGDEF = “,D13.5)') SCGDEF
114 ENDIF
115 !
116 WRITE(11," (" +——(NODE)
117 1 )"
118 DO N=1, NODES
119 WRITE(11,” (" node#t:”, 16,” (X,Y):” 2E13.5)")

120 1 N, XYZNOD(N, 1), XYZNOD (N, 2)
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ENDDO
WRITE(11," (" +—-(ELE)
1 +)")

DO M=1, MENTS

WRITE(11,” (" element <", 16,"> “, "~ node A & B:”, 216
1” sectyp:”,12)")

1 M, NODELE (M, 1), NODELE (M, 2), MATSEC(M)

ENDDO

WRITE(11," (" +———(SECTYP)
1 ")

DO NSECT=1, NSECTS

WRITE(11," (¥ sectyp #:”,16,” EA=", E12.5,” EI=:" E12.5)")
1 NSECT, SECTYP (NSECT, 1), SECTYP(NSECT, 2)

ENDDO

WRITE(11,” (" +———(DOF)
1 ")

NDF=MDOFS/MNODES ! dof#/node

DO MENT=1, MENTS

WRITE(11,” (" element <", 16,”>",” node A & B dof#:”, 616)")
1 MENT, (NEQELE (MENT, N), N=1, NDF), (NEQELE (MENT, NDF+N), N=1, NDF)
ENDDO

CALL CLOSE_FD_oOUT

1000

CONTINUE ! CG (#IEiRZ KRR/ ERE)

IF (ICGINI==0) GOTO 2000 ! frame05_ini.data NOT produced
WRITE( 6,%) ' +-——— opened: Initial Configuration CG file —— +
CALL CG_FD_INI

WRITE(6, %) ' +-—— closed: Initial Configuration CG file ——— +

CONTINUE !  BAU_SYSK

CALL BAU_SYSK

WRITE( *,%) ' +————— System Stiffness Assembled———-———— +
GALL OPEN_FD_OUT
WRITE(11,%)
WRITE(11, %) " 4= System Stiffness Assembled—————————- +
CALL CLOSE_FD_oOUT

IF (IPSYSK/=0) THEN
CALL PRINT_SYSK
CALL OPEN_FD_oUT
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161 WRITE(11,%) = +———- System Stiffness Matrix (symmetric) ————- +
162 DO K=1, NDOFS

163 DO J=1,K

164 IF (0. TE-12 <= ABS(SYSK(LSKY (J,K))) ) THEN

165 WRITE(11," (5X,” SYSK( “, 16,7, 16, )= ", E12.5)")

166 1 J, K SYSK(LSKY (J, K))

167 ENDIF

168 END DO

169 END DO

170 CALL CLOSE_FD_oOUT

171 ENDIF ! IPSYSK/=0

172 I —— R AIEARER

173 CALL LDLT_SYSK RHS(1,0,NEGA,0) ! singularity checked

174 )

175 WRITE( *, %) " +———- System Stiffness LDLT-Decomposed ——————— +
176 GALL OPEN_FD_OUT

177 WRITE(11,%) = +————- System Stiffness LDLT-Decomposed ——————- +
178 CALL CLOSE_FD_oOUT

179 |

180 IF (IPSYSK/=0) THEN

181 CALL PRINT_SYSK

182 GALL OPEN_FD_OUT

183 WRITE(11,%) = +————- LDLT-Decomposed System Stiffness ——————- +
184 DO K=1, NDOFS

185 DO J=1,K

186 IF (0. TE-15 <= ABS(SYSK(LSKY (J,K))) ) THEN

187 IF (J==K) THEN

188 WRITE(11," (5X,” D (“, 16,77, 16,” )= " E12.5)")

189 1 J, K SYSK(LSKY (J, K))

190 ENDIF

191 IF(J/=K) THEN

192 WRITE(11," (5X,” LT (", 16,77, 16, )= ", E12.5)")

193 1 J, K SYSK(LSKY (J, K))

194 ENDIF

195 ENDIF

196 END DO

197 END DO

198 CALL CLOSE_FD_oOUT

199 ENDIF ! IPSYSK/=0

0 B
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201 RHS=PVEC | #3318

202 !

203 IF (IPPVEC/=0) THEN

204 CALL OPEN_FD_OUT

205 WRITE(11,%) ' +——— Load Vector in Stiffness Equations ———— +
206 DO J=1, NDOFS

207 IF (0. 1E-15 <= ABS(PVEC(J)) ) THEN

208 WRITE(11,” (6X, ™ load vector (", 16, ")= " E12.5)") J, PVEC(J)

209 ENDIF

210 END DO

211 CALL CLOSE_FD_oOUT

212 ENDIF ! IPPVEC/=0

213 | ———— RN IO E

214 CALL LDLT_SYSK_RHS (0, 1, NEGA, 0)

215 TTLDOF=RHS

216 !

217 GALL OPEN_FD_OUT

218 WRITE(11, %) = +———— Stiffness Equations Solved —————— +'
219 WRITE (11, %)

220 CALL CLOSE_FD_oOUT

221 !

222 IF (IPSOLV/=0) THEN

223 GALL OPEN_FD_OUT

224 WRITE(11,%) ' +-——— Computed Nodal Degrees-of-Freedom ——————— +
225 DO J=1, NDOFS

226 IF (0. 1E-7 <= ABS(TTLDOF (J)) ) THEN

227 WRITE(11,” (BX, ™ dof #",16,”: “,E12.5)") J, TTLDOF (J)

228 ENDIF

229 END DO

230 CALL CLOSE_FD_OUT

231 - HEEINHRERMA INORTR

232 WRITE( *,%) " +——— Computed Nodal Degrees—of-Freedom ————— +
233 2120 DO J=1, NDOFS

234 WRITE (6, 2110) J, TTLDOF (J)

235 2110 FORMAT( 5X, ' doff# ', 16," =", E12.5)

236 END DO

237 ENDIF ! IPSOLV/=0

238 ! EERDHEH RME A

239 CALL POST_SYSK

240 !
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IF (ICGDEF==0. AND. ICGXLS==0) GOTO 1910 ! frame05_def & frame05_xIs NOT produced
WRITE( 6,%) '  +-——— opened: Deformed Configuration CG file —+

CALL CG_FD_DEF

WRITE( 6,%) '  +-——— closed: Deformed Configuration CG file —+

1910 CONTINUE

9000 CALL OPEN_FD_OUT

WRITE(11," (©
1 D)

WRITE(11," (15X, ” {frame05> : Ver 18AUGO8 executed “)")
WRITE(11," (©
1 D)
CALL CLOSE_FD_oOUT

9999 CONTINUE

END SUBROUTINE LINEAR

SUBROUTINE BAU_SYSK
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

ERAMEITIA o BERBIMETIERAILTEIF ITNL—F

SYSK=0.0 I BIETHI D RHE

DO M=1,MENTS | EXR
MTYP=MATSEC (M) ! BRE447
NA=NODELE (M, 1) ;NB=NODELE (M, 2) &i=&ES

====== RFRMIMETIOHE - EROBHICLDINE ===

SELECT CASE(ELE_LIB) !

———————————— B ER————
CASE (" T2D_LIN") I 2t S RER
EA=SECTYP (MTYP, 1) I ORI

CALL T2D_LIN(EA, NA, NB)

CASE('B2D_LIN') ! 2RtV ER
EA=SECTYP (MTYP, 1) R CRON L
EI=SECTYP (MTYP, 2) I BRI

CALL B2D_LIN(EA EI, NA, NB)
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CASE DEFAULT
STOP ' error: ELE_LIB NOT identified/ BAU_SYSK'

END SELECT ! ELEK computed

CALL OPEN_FD_oOUT
WRITE(11,” (“ +——Element Data for <", 16,”
1 ) )M

XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2) !&im A D EEZ

XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2) !&is B (DEE4Z

ESPAN=SQRT (' (XB-XA) * (XB-XA) +(YB-YA)*(YB-YA) ) | EHRER=
CH=(XB-XA) /ESPAN; SH=(YB-YA) /ESPAN

WRITE(11,” (" Length L, cos® & sin®:” 3E11.4)") ESPAN, CH, SH
WRITE(11,” (" Axial Stiffness EA 17, E11.4)") EA

IF (ELE_LIB=="B2D_LIN') THEN

WRITE(11," (* Bending Stiffness EI:”, E11.4)") EI
WRITE(11," (© Global Load (PA, QA PB,QGB):", 4E11.4)")

1 BALPQ(M, 1), BALPQ(M,2), BALPQ(M,3), BALPQ(M,4)
WRITE(11," (*  Local Load (pa,qa, pb,ab):”, 4E11.4)")

1 CALPQ(M, 1), CALPQ(M,2), CALPQ(M,3), CALPQ(M, 4)
WRITE(11," (" Nodal Forces (PA, QA, MA):" 3E11.4)")

1 PQELE (M, 1), PQELE(M, 2), PQELE(M, 3)

WRITE(11," (" Nodal Forces (PB, OB, MB):",3E11.4)")

1 PQELE (M, 4), PQELE(M, 5), PQELE (M, 6)

END IF

1015

_______ ZOEROHALHES

IF (IPELEK==0) GOTO 1015

WRITE(11,” (5X, ” ** element stiffness matrix *+”)")
DO J=1, MDOFS

WRITE(11," (8X, 12E11.4)")  (ELEK(J, K), K=1, MDOFS)

END DO

CONTINUE

CALL CLOSE_FD_oOUT

DO K=1,MDOFS ! 7  EXRRBIETINOMAERRZELELIBHOH
KSYS=NEQELE (M, K)

IF (KSYS==0) CYCLE

D0 J=1.K | 7 ERBMETIORBERZELELBIDH
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REAXDRBMETIIZE1THTES (THEM) LIES GIFH) ——
JSYS=NEQELE (M, J)

IF (JSYS==0) CYCLE

——————— SYSK EREht

LSYS=LSKY_SWAP (JSYS, KSYS) ! swapping, if necessary

SYSK (LSYS) =SYSK (LSYS) +ELEK (J, K)

- R EHECHREHZERT S5O RIILE

IF (J/=K. AND. JSYS==KSYS) THEN ! ELEK % L offpvt A* SYSK @ pvt IZKBI5HEE
SYSK (LSYS) =SYSK (LSYS) +ELEK (J, K) ! ELEK M ZE T offpvt £ SYSK D pvt 2 1IE
ENDIF ! 13/Feb/98 tH#2MK debugging Zi T ICES98 shell buckling 0K

ENDDO ! 47 J
END DO ! K
ENDDO ! ZE&H M

END SUBROUTINE BAU_SYSK

SUBROUTINE POST_SYSK

HESNEEBAZEES L2, SERCONTOMAKEN
EHHT2HTN—F >

USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

DO M=1,MENTS ! E&

MTYP=MATSEC (M) ! BRE447

NA=NODELE (M, 1) ;NB=NODELE (M, 2) '&im&EF
ERAETIOHE (BAEEREROH) ———
=== BROEBRICLENEE ===

SELECT CASE(ELE_LIB) !

————————— B ER————
CASE (" T2D_LIN") I 2t S RER
EA=SECTYP (MTYP, 1) I ORI

CALL T2D_LIN(EA, NA, NB)

CASE('B2D_LIN') ! 2 RIufEMmIFVYER
EA=SECTYP (MTYP, 1) I ORI
EI=SECTYP (MTYP, 2)

CALL B2D_LIN(EA EI, NA, NB)
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361 !

362 CASE DEFAULT

363 STOP ' error ; ELE_LIB NOT identified /POST_SYSK
364 !

365 END SELECT

366 N — i RETE AN D HE

367 WRITE Gk, " (" +——- Nodal Forces for <", 16,” >
368 1 F))M

369 !

370 DO J=1,MDOFS 47 J

371 PQM=0. 0

372 IF (ELE_LIB=="B2D_LIN') PQM=PQELE(M,J) ! HFWAEICKLSERETEA FRA)
373 DO K=1,MDOFS 1% K

374 IF (0KNEQELE (M, K) . AND. NEQELE (M, K) <=NDOFS) THEN

375 PQM=PQM+ELEK (J, K) *TTLDOF (NEQELE (M, K))

376 END IF

377 END DO 151 K

378 TTL=0.0

379 IF (0KNEQELE (M, J) . AND. NEQELE (M, J) <=NDOFS) THEN

380 TTL=TTLDOF (NEQELE (M, J))

381 END IF

382 WRITEGx," (" row#”, 15,7 dof#”, 15, “:", E11.4,

383 1 “ nodal force:” E11.4)")
384 1 J, NEQELE M, J), TTL, PQM
385 END DO 147 d

386 lommmm

387 CALL OPEN_FD_OUT

388 WRITE(11,” (" +———— Nodal Forces for <", 16, ">

389 1 )M

390 IF (IPELEK/=0) THEN

391 WRITE(11,” (BX, " element stiffness matrix **")")
392 WRITE(11," (5X, ” dof#”, 12111)") (NEQELE (M, K), K=1, MDOFS)
393 DO J=1, MDOFS

394 WRITE(11," (10X, 12E11.4)")  (ELEK(J, K), K=1, MDOFS)
395 END DO

396 ENDIF ! ...... IF (IPELEK/=0)

397 ! ZUG for T2D_LIN

398 XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2) & A (DEEAZ

399 XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2) !&fis B (DEEAZ

400 ESPAN=SQRT (' (XB-XA) * (XB-XA)+(YB-YA)*(YB-YA) ) | EHRR=
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401 CH=(XB-XA) /ESPAN; SH=(YB-YA) /ESPAN

402 ZUG=0. 0 I for for T2D_LIN only

403 !

404 DO J=1,MDOFS  !4T J

405 PQM=0. 0

406 IF(ELE_LIB=="B2D_LIN') PQM=PQELE(M,J) ! SHFHAfFEICKL S H RMEAH (HERH)
407 DO K=1,MDOFS !l K

408 IF (OKNEQELE (M, K) . AND. NEQELE (M, K) <=NDOFS) THEN

409 PQM=PQM+ELEK (J, K) *TTLDOF (NEQELE (M, K) )

410 END IF

411 END DO 151 K

412 IF (J==1) ZUG=ZUG-PQM=*CH I- Paxcos for T2D_LIN
413 IF (J==2) ZUG=ZUG-PQM*SH I- Qaxsin for T2D_LIN
414

415 TTL=0.0

416 IF (OKNEQELE (M, J) . AND. NEQELE (M, J) <=NDOFS) THEN

417 TTL=TTLDOF (NEQELE (M, J))

418 END IF

419 WRITE (11, (6X,” rowt:”, 16,” dof#:”,16,” dof:” E11.4,
420 1 “ Nodal Force:”,E11.4)")

421 1 J, NEQELE M, J), TTL, PQM

422 END DO 147 J

423 |

424 IF(ELE_LIB=="T2D_LIN') THEN

425 WRITE(11," (“  Axial Force in Truss Element: (+) for Tension :”
426 1 JE11.4)) ZUG

427 ENDIF

428 CALL CLOSE_FD_oOUT

429 |

430 END DO P EZERM

431 |

432 END SUBROUTINE POST_SYSK

433 !

434 SUBROUTINE T2D_LIN(EA, NA, NB)

435 USE GLOBALOS

436 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

437 !

438 ! THE S RABEROERMMITS ELEK(4, 4) %

439 ! HETEHYIIL—F> (ZA, ZB) FARET—4

440 ! aAVRAZ—EiB 1996 % 10 A 14 B—Ib5R ! B
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441 !

442 XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2) !Hiis A DEEAZ
443 XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2) !&fisi B DEAZ
444 N BERRS L —-

445 ESPAN=SQRT (' (XB-XA) * (XB-XA) + (YB-YA) * (YB-YA) )
446 IF (ESPAN==0. 0) THEN

447 STOP " error: ESPAN=0.0 /T2D_LIN'

448 END IF

449 CH=(XB-XA) /ESPAN; SH=(YB-YA) /ESPAN
450 CC=CH+CH*EA/ESPAN

451 CS=CH«SH*EA/ESPAN

452 SS=SH«SH*EA/ESPAN

453 - ERMIMETH ELEK@4, 4) ————
454 ELEK (1, 1)=CC

455 ELEK (3, 3)=CC

456 ELEK (3, 1)=—CC

457 ELEK(1,3)=-CC ! check ok

458  l-——————-

459 ELEK (2, 2)=SS

460 ELEK (4, 4)=SS

461 ELEK (4, 2)=-SS

462 ELEK (2, 4)=-SS I check ok

463 -

464 ELEK (1, 2)=CS

465 ELEK (2, 1)=CS

466 ELEK (3, 4)=CS

467 ELEK (4, 3)=CS

468 ELEK (1, 4)=—CS

469 ELEK (2, 3)=—CS

470 ELEK (3, 2)=—CS

471 ELEK (4, 1)=-CS I check ok

R

473 END SUBROUTINE T2D_LIN

474 |

475 SUBROUTINE B2D_LIN(EA, EI, NA, NB)

476 USE GLOBALOS

477 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
478 |

479 1 TERYZEROERRBIMEITH ELEK®S, 6) %

480 ! HEITBHYIIL—F (ZAIB) BFRET—4



481
482
483
484
485
486
487
488
489
490
491
492
493
494
495
496
497
498
499
500
501
502
503
504
505
506
507
508
509
510
511
512
513
514
515
516
517
518
519
520

T k) O REICKHEEREN], T4,

aVNAS—EiB 1996 F10 A 14BER ! FE 84

XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2) '&im A D EEZ
XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2) ! &ii s B D EEAZ

ESPAN=SQRT (' (XB-XA) * (XB-XA) + (YB-YA) * (YB-YA) )
IF (ESPAN==0. 0) THEN

STOP
END IF

error: ESPAN=0.0 /B2D_LIN'

CH=(XB-XA) /ESPAN; SH=(YB-YA) /ESPAN
CC=CH+CH; CS=CH*SH;  SS=SHxSH
EACC=CC+EA/ESPAN

EACS=CS+EA/ESPAN

EASS=SS+EA/ESPAN

E102=2+E1/ESPAN
E104=4*E1/ESPAN
E106C=6%CH*E 1/ (ESPAN*ESPAN)
E106S=6+SH*E 1/ (ESPAN*ESPAN)

EI12CC=
EI12CS=
E1128S=
ELEK=0.
ELEK (3,
ELEK (6,
ELEK (3,
ELEK (6,
ELEK (2,
ELEK (3,
ELEK (2,
ELEK (6,
ELEK (3,
ELEK (5,
ELEK (5,
ELEK (6,
ELEK (3,
ELEK (4,
ELEK (4,
ELEK (6,

12xCC+E1/ (ESPANXESPAN+ESPAN)
12%CS*E 1/ (ESPAN*ESPAN+ESPAN)
12%SS*E 1/ (ESPAN*ESPAN+ESPAN)
0

-——- EZRMI%175] ELEK(6, 6)
3)= EI104

6)= EI104

6)= EI102

3)= EI102

3)= EI06C

2)= EI06C

6)= EI106C

2)= EI06C

5)=-E106C

3)=-E106C

6)=—E106C

5)=-E106C

4)= EI06S

3)= EI06S

6)= EI106S

4)= EI106S
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521
522
523
524
525
526
527
528
529
530
531
532
533
534
535
536
537
538
539
540
541
542
543
544
545
546
547
548
549
550
551
552
553
554
555
556
557
558
559
560
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ELEK (1, 3)=-E106S

ELEK (3, 1)=-E106S

ELEK (1, 6)=-E106S

ELEK (6, 1)=-E106S

ELEK (2, 2)= EASS+E112CC
ELEK (5, 5)= EASS+E112CC
ELEK (2, 5)=—EASS-E112CC
ELEK (5, 2) =—EASS-E112CC
ELEK (1, 1)= EACC+EI12SS
ELEK (4, 4)= EACC+EI12SS
ELEK (1, 4)=-EACC-EI12SS
ELEK (4, 1)=-EACC-EI12SS
ELEK (2, 4) =-EACS+EI12CS
ELEK (4, 2) =-EACS+EI12CS
ELEK (1, 5) =—EACS+EI12CS
ELEK (5, 1) =-EACS+EI12CS
ELEK (1, 2)= EACS-EI12CS
ELEK (2, 1)= EACS-EI12CS
ELEK (4, 5)= EACS-EI12CS
ELEK (5, 4)= EACS-EI12CS
END SUBROUTINE B2D_LIN

SUBROUTINE LDLT_SYSK_RHS (IDEC, ISLV, NEGA, IPRINT)

B AR LLT SR & S EREN-FV
SYSK (1 k5tiEesl) MR REATH (HEER)
RHS (1 kITECSI) c BIDIEN IMY (RN M)
NDOFS (>=2) DT GRENEDERD
SEEFERIT SYSK ISR SN T W-FuEiRIT S
N JMVIE RHS  ISREEA S W THI W-Fu&iRIT S
(2%2) TLE L L DET ARER T AR

IDEC =0/1=2E LG/ 28T 5

ISLV =0/1=fA JMERDIZV/RD S

NEGA =DBEROPTOREOMAERDEL
DETLOG = log (REITHDITHIH)

IPRINT  =0/1=0f#ER BN INEBERTLEN/T S

USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)



561
562
563
564
565
566
567
568
569
570
571
572
573
574
575
576
577
578
579
580
581
582
583
584
585
586
587
588
589
590
591
592
593
594
595
596
597
598
599
600

T b OREICK BEERN,

—— IDEC=0 G5 AR L7 LY (EBIZEAN JMERD )
IF (IDEC==0) GOTO 2000

ZER0=0. 1E-15
DO 340 J=1, NDOFS | FRTOFIZDINT
|- %1 TEORBER——
IF (J==1) THEN | H1FEIOLT

PVT=SYSK ( LSKY(J, J) )
t IR A ERDIRH

IF (ABS (PVT)<=ZERO) THEN

WRITE (x, %) J, ...error! zero pivot in LDLT
CALL OPEN_FD_OUT

WRITE(11,%) ' RIMEFTIILFETITT I ANT—2EF v oL’
CALL CLOSE_FD_oOUT

STOP

END IF

----- FE1TEDEANARER

DO 100 K=2, NDOFS

SYSK ( LSKY (J,K) )=SYSK( LSKY(J,K) )/PVT
CONTINUE

UE F1TBEIZDNVT
ELSE | ZOMDITDGE

200

DO 330 K=J,NDOFS ! % 2 {THLAREIZDLNT

————————— SHAER

IF (J==K) THEN

PVT=SYSK( LSKY(J,K) )

DO 200 M=1, J-1

PVT=PVT-SYSK ( LSKY (M, K) )*SYSK( LSKY (M, M) )=*SYSK( LSKY (M, K) )
CONTINUE

SYSK (LSKY (J, K) ) =PVT

I AREROKE-————

IF (PVT==0. 0) THEN

WRITE(6,*) J, "error! zero pivot in LDLT'

CALL OPEN_FD_OUT

WRITE(11,%) ' RIMESTIILFETITT I ANT—2EF v oL’
CALL CLOSE_FD_0OUT

STOP

END IF

T%tt, 20/MAI/2013



601
602
603
604
605
606
607
608
609
610
611
612
613
614
615
616
617
618
619
620
621
622
623
624
625
626
627
628
629
630
631
632
633
634
635
636
637
638
639
640

T k)Y REICKHEEMRHT], T4, 20/MAI/2013

————————— EXMAER

SVAL=SYSK( LSKY (J,K) )

DO 300 M=1, J-1

SVAL=SVAL-SYSK ( LSKY (M, K) )*SYSK( LSKY (M, M) )*SYSK( LSKY (M, J) )
CONTINUE

SYSK ( LSKY (J, K) )=SVAL/PVT

END IF

CONTINUE ! 2 247BLUREIZDOINT

340

CONTINUE | ¥ RTOITIZDLT

<LDLT 2 fg#&T>

400

- U2 HABRROEHROIIVE

NEGA=0 I U ARROBROMNIAMERE
DO 400 M=1, NDOFS

PVT=SYSK (LSKY (M, M))

IF (PVT<0.0) NEGA=NEGA+1

CONTINUE

IF (NEGA/=0) THEN

CALL OPEN_FD_OUT

WRITE(11,%) ' warning: negative diagonals in [D]!

CALL CLOSE_FD_0OUT

STOP " warning: negative pivot(s) in LDLT-decomposition
END IF

ISLV=0 %25 (53D #) #&hH Y

2000 IF (ISLV==0) GOTO 5000
EERXIZRDSD
DO 700 L=2, NDOFS
SVAL=RHS (L)
DO 600 N=1,L-T
SVAL=SVAL-SYSK (LSKY (N, L) ) *RHS (N)
600 CONTINUE

RHS (L) =SVAL



641
642
643
644
645
646
647
648
649
650
651
652
653
654
655
656
657
658
659
660
661
662
663
664
665
666
667
668
669
670
671
672
673
674
675
676
677
678
679
680

700

T k) O REICKHEEREN], T4,

CONTINUE

EEMRNIERDD (HARRTESHT)
DO 800 L=1, NDOFS

RHS (L)=RHS (L) /SYSK ( LSKY (L, L) )

CONTINUE

——————————— RIEHIZEAEA Y L RHS(NDOFS) %3RéHBH—

DO 1000 L=NDOFS-1,1,-1

SVAL=RHS (L)

DO 900 M=L+1, NDOFS

SVAL=SVAL-SYSK (LSKY (L, M) ) *RHS (M)

900 CONTINUE
RHS (L) =SVAL
1000 CONTINUE
———————————————— #EROEEmER (IPRINT=0/1)
5000 CONTINUE
IF (IPRINT==0) GOTO 9000
————————————— NEEEROBERR T
WRITE (*, ) ' ———— LDLT-Decomposed Stiffness ——————
DO K=1, NDOFS
DO J=1,K
WRITE (%, " (" LDLT (", (16),7, ", (16),")=",E12.5)")
J, K, SYSK (LSKY (J, K))
END DO
END DO
WRITE (%, %) ' —————— Diagonal Matrix [D]-————— '
DO L=1, NDOFS
WRITE (%, (" D(”, 16, ”)=",E12.5)") L, SYSK(LSKY (L, L))
END DO

-------- THR L BOXMARS DEHOE TR T
WRITE(*,” (* Numb. of Negative Diagonals in [D]= “,16)") NEGA

7000

CALL WAIT
AT S
WRITE (%, %) ' —————————- Solution Vector ———————

DO 7000 J=1, NDOFS
WRITE (x," (" RHS (", 16, ")=",E12.5)") J, RHS(J)
CONTINUE

9000

CONTINUE
END SUBROUTINE LDLT_SYSK_RHS
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681 !

682 SUBROUTINE WAIT

683 l-—— BEEOEHRTE—FFIELT - AREFO—-

684 WRITE (%, " (A)", ADVANCE="NO")

685 1 7 frame05 is waiting for your enter key strike.... ; READ(x, %)
686 END SUBROUTINE WAIT

687 !

688 FUNCTION LSKY_SWAP (JSYS, KSYS)

689 USE GLOBALO05

690 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

691 !

692 ! skyline xt#R@IME1TS] SYSK DM T

693 I (JSYS, KSYS) B DEH#L LSKY_SWAP %5 % ZRBE%EI7° 09 74

694 !

695 I (JSYS KSYS) BERIF"ETICHET SN COBEF
696 I RSN S, B LIZBERICERIRNIE (swapping) L-FES5 X 5
697 ! (JSYS, KSYS) [EfRFTFEN B

698 ! RS -

699 I SYSK(LSKY_SWAP (J, K) )=—4343. 88xE1

700 ' SYSK(LSKY_SWAP (J+1, K+1))= SYSK (LSKY_SWAP (J, K))

701 |- simple check the compatibility (jsys,ksys) ———
702 IF (JSYS<=0. OR. NDOFS<JSYS) THEN

703 WRITE (x, %)  JSYS," error:row#<=0 or NDOFS<row#/LSKY_SWAP’
704 STOP

705 ENDIF

706 IF (KSYS<=0. OR. NDOFS<KSYS) THEN

707 WRITE (x, %)  KSYS," error:cIm#<=0 or NDOFS<c|m#/LSKY_SWAP’
708 STOP

709 ENDIF

710 R

711 J=JSYS; K=KSYS

712 ! swapping, if necessary ————-

713 IF (JSYSOKSYS) THEN | ETIZHBESE

714 J=KSYS | K=JSYS | 17&S L 5IHES% SWAPPING

715 END IF

716 -

717 IF (J>K) THEN

718 STOP ' error: j>k, not right_upper/LSKY_SWAP’

719 ENDIF

720 I-—-SYSK (LSKYMAX) D 7z N T D & LSKY_SWAP —————



721
722
723
724
725
726
727
728
729
730
731
732
733
734
735
736
737
738
739
740
741
742
743
744
745
746
747
748
749
750
751
752
753
754
755
756
757
758
759
760

T b OREICK BEERN,

! —R7ERS| SYSK GADERIHMABRRMN G EICAFTESHTLTHS.
! FELTWLWSDIEE K BDAI.

! C DI DX E S DEMIE LSKYPVT(K) T, LT

! CORAESDOEIZ K-JRWSKY K) BEDFEEARTHHS.

! CO5BE J TIHHRH DEMIT

! LSKYPVT(K) + K -J

! THb.

LSKY_SWAP = LSKYPVT (K) +K-J ! SYSK(LSKYMAX) D7ih dEith

IF (LSKYMAX<LSKY_SWAP) THEN

WRITE (*, %) LSKY_SWAP,

1 " error: larger than LSKYMAX/LSKY_SWAP’
STOP

ENDIF

END FUNCTION LSKY_SWAP

FUNCTION LSKY (JSYS, KSYS)
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

I skyline xt#FRIME4THI SYSK D7aMmT

' 9 TEEITRET SH1  (USYS KSYS) EHED

I #Hs LSKY 25 2 2B8%E17" 05 34

! SEE) swapping L7 !

I ELVADH : SYSK(LSKY (J, K) ) =4343. 88xE1

I fELEDOF] - SYSK(LSKY (J+1, K+1)) = SYSK(LSKY (J,K)) 7z &

IF (JSYS>KSYS) THEN
STOP ' error: j>k, not right_upper/LSKY’
ENDIF
I-—-SYSK (LSKYMAX) D 7z N T D& LSKY ——-
! —RTEG| SYSK GEADEREHAZERN S EICAITTESHHITLTHS.
! FELTWADIEEKSYS BEDAFI.
! C DD E RS DEMIE LSKYPVT (KSYS) T. £L T
! COXRAEADLEIZ  KSYS-JRWSKY (KSYS) EDIEEAAHHS.
! CDIBEISYSITICH DS DEHIT
! LSKYPVT (KSYS)+ KSYS-JSYS
! THb.

%

1t
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761 !

762 LSKY=LSKYPVT (KSYS) +KSYS-JSYS | SYSK (LSKYMAX) @ 7ihdEit
763 !

764 IF (LSKYMAX<LSKY) THEN

765 WRITE (x, %) LSKY, ' error: larger than LSKYMAX/LSKY’
766 STOP

767 ENDIF

768 !

769 END FUNCTION LSKY ! 18/Aug/97 coded by Fujii,F.
770 !

771 SUBROUTINE PRINT_SYSK

772 USE GLOBALO5

773 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

774 I SYSK D EE &R R——

775 DO K=1, NDOFS

776 DO J=1,K

77T IF (0. 1E-12 <= ABS(SYSK(LSKY (J,K))) ) THEN

778 WRITE (x, " (" SYSK(”, 15,7, ", 15, “)=",E12.5)")

779 1 J, K, SYSK(LSKY (J,K))

780 ENDIF

781 END DO

782 END DO

783 END SUBROUTINE PRINT_SYSK

784 !

785 SUBROUTINE READ_FD_INP I —IS5ERE

786 ! inputdata file FILE_NAME="C:¥frame05¥frame05_inp. txt’
787 CALL OPEN_FD_INP

788 CALL READ_DATA

789 CALL CLOSE_FD_INP

790 END SUBROUTINE READ_FD_INP | —&5ERK

791 !

792 SUBROUTINE OPEN_FD_INP

793 !

794 OPEN (UNIT=97, 10STAT=10S, ERR=9999,

795 1FILE=" C:¥frame05¥frame05_inp. txt', ! EIE L1= 7740 &8I
796 1STATUS="0LD",

797 1ACCESS=" SEQUENTIAL ',

798 1FORM=" FORMATTED" )

799 GOTO 9000

800 9999 WRITE (, %) I0S," error: OPEN_FILE error!’



801
802
803
804
805
806
807
808
809
810
811
812
813
814
815
816
817
818
819
820
821
822
823
824
825
826
827
828
829
830
831
832
833
834
835
836
837
838
839
840

9000

T b OREICK BEERN,

STOP

WRITE(6,%) " ......... unit is now connected.
WRITE (x, *) " opened : C:¥frame05¥frame05_inp. txt
END SUBROUTINE OPEN_FD_INP

9999

9000

SUBROUTINE CLOSE_FD_INP

CLOSE (UNIT=97, IOSTAT=10S, ERR=9999, STATUS=" KEEP" )
GOTO 9000

WRITE(6,*) ' error: CLOSE_FILE error!’

STOP

WRITE (6, *) ' closed: G:¥frame05¥%frame05_inp. txt’
END SUBROUTINE CLOSE_FD_INP

SUBROUTINE READ_DATA !—I&5ERL
USE GLOBALO5
CHARACTER TEXT80%80

READ ALL LINES IN THE INPUT DATA FILE
UNTIL (ALLEND) WILL BE READ

1000

2000

WRITE (x, %) ' reading: C:¥frame05¥frame05_inp. txt
CONTINUE

CALL READ_LINE (TEXT80)

----------- =D —ITEDHEEEFIY)————

IF (INDEX (TEXT80, * (MEMO) " )==0) THEN

WRITE (x, %) " error: (MEMO) missed.

STOP

ENDIF

CONTINUE

3110

read data blocks in sequence
WRITE (%, %) " reading... .. (MEMO) *

CALL DATA_MEMO

IF (INWAIT/=0)  CALL WAIT

3120

system control data
WRITE (%, %) " reading... (SYSTEM)’

CALL DATA_SYSTEM

IF (INWAIT/=0)  CALL WAIT

structural data

3150

WRITE (%, %) " reading..... (NODE) "
CALL DATA_NODE
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841 IF (INWAIT/=0) CALL WAIT

842 WRITE G+, *) ' reading..... (ELE)’

843 3160 CALL DATA_ELE

844 IF (INWAIT/=0) CALL WAIT

845 WRITE (%, %) ' reading... (SECTYP)’

846 3170 CALL DATA_SECTYP

847 IF (INWAIT/=0) CALL WAIT

848 WRITE G+, ) ' reading...... (DOF)’

849 3180 CALL DATA_DOF

850 IF (INWAIT/=0) CALL WAIT

851 ! loading

852 WRITE (%, %) ' reading..... (LOAD)"

853 3190 CALL DATA_LOAD

854 IF (INWAIT/=0) CALL WAIT

855 | check ' (QUIT)’

856 CALL READ_LINE (TEXT80)

857 IF (INDEX (TEXT80, * (QUIT)")==0) THEN

858 STOP ' error: (QUIT) missed.’

859 ENDIF

860 WRITE (%, %) " (QUIT) detected and READ_FILE quit’
861 END SUBROUTINE READ_DATA |—[E5ERK

862 !

863 SUBROUTINE READ_LINE (TEXT80) | —IS5ERL
864 CHARACTER TEXT80%80

865 !

866 1000 CONTINUE

867 READ (97, 1100) TEXT80

868 1100 FORMAT (A80)

869  l-——- ERIZ ! BHBHI A FXTER (RN ———
870 IF (TEXT80(1:1)=="1") GOTO 1000 ! RDIT&FHAAL
871 CALL EXCLAM(TEXT80) ! “1” KYADXFEETIZIVIIZTS
872 !

873 END SUBROUTINE READ_LINE !'—IS5ERL

874 |

875 SUBROUTINE EXCLAM(TEXT80) !'—I&5ERL

876  l-———- 1T ERYVEOXFELRTIZIUIICTS

877 CHARACTER TEXT80%80

878 l———= “17 5 80 XFDXFFI| TEXT80 IZEFENTULNEMN? —-
879 KEX =INDEX (TEXT80," !")

880 Il EENTLGEL GoELITKRT



881
882
883
884
885
886
887
888
889
890
891
892
893
894
895
896
897
898
899
900
901
902
903
904
905
906
907
908
909
910
911
912
913
914
915
916
917
918
919
920
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IF (KEX==0) GOTO 9000
———KEXCLAM 31| B LAf& %9 <X T blank out
TEXT80 (KEX:80)= " '

CONTINUE

END SUBROUTINE EXCLAM !—IJ&5ERk

SUBROUTINE NUMB (NO9, ZAHL) | —IS5ERL

convert the string ZAHL into integer NO9

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER ZAHLx*1
BEMZE (-230241 ) ZRALTHL

N09= -230241

IF (ZAHL=="0") NO09=0

IF (ZAHL=="1") N09=1

IF (ZAHL=="2") N09=2

IF (ZAHL=="3") N09=3

IF (ZAHL=="4") NO09=4

IF (ZAHL=="5") N09=5

IF (ZAHL=="6") NO09=6

IF (ZAHL=="T7") N09=7

IF (ZAHL=="8") N09=8

IF (ZAHL=="9") N09=9

-— XF - BY OLWHAERITSNENo15HE
IF (N09==-230241) THEN

WRITE (6, *) ZAHL, ' error: not integer/NUMB’

STOP

END IF

END SUBROUTINE NUMB | —IS5ER

SUBROUTINE GET_NAME_EQ (TEXT80, KEQ, STRING) | —IS5ERL

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER TEXT80%80, STRING*80

TEXT80 M7EMMT FE5DHAHFE KEQ 5l &Y EIZHY
RAICHIET S max 6 XFMSHSXFH (EH%A) ZEREL
STRING = "SEVEN ’ D ITEFESH T
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921
922
923
924
925
926
927
928
929
930
931
932
933
934
935
936
937
938
939
940
941
942
943
944
945
946
947
948
949
950
951
952
953
954
955
956
957
958
959
960

3000
I-—$

T k) O REICKHEEREN], T4,

NWRD= 0

STRING(1:80)=" " I3x=5 STRING D#HAL

—— TEXT80 DHDEFESDEIZH BHXFH (EH%A) DERER
DO 3000 K=1, KEQ-T

STRING (K:K) =TEXT80 (K:K) I ZARBBIEFENTILNS
CONTINUE
TRING= " SEVEN L EREICHEDS

STRING=ADJUSTL (STRING) ! STRING= "SEVEN
ZAMERVEXFR
NWRD=LEN_TRIM (STRING)

ERAES/EILBREHEA G N EE——
IF (NWRD==0) THEN

STOP ' error: no string detected/GET_NAME_EQ'

END IF

END SUBROUTINE GET_NAME_EQ !—FS5ERk

SUBROUTINE GET_EQ_VAL (TEXT80, K1, K2, STRING) | —IS5ER
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER TEXT80%80, STRING*80

TEXT80 M74AT F KI JhSAICHY RAICHIRT 53XFF 1R
ZOEMLEXFIOREDOXFOMEELZ K2 (21
STRING="-9. 007655E-32 L ITEFEO TR

K2: EZGHAE

NWRD= 0 ;K2=K1

STRING (1:80)=" " ! initialize STRING

--------- F Kl ShSHICHYREMICHIRT X FIEHRR—-
DO 3000 K=K1, 80

—CNFETAFENDOXFERE L TELD, ZANHRES

IF (NWRD/=0. AND. TEXT80 (K:K)==" ") EXIT I!#RER{&T

3000

IF (TEXT80 (K:K) /=" ') THEN ! A DXFEEtt

NWRD=NWRD+1

STRING (NWRD:NWRD) =TEXT80 (K:K) ! Z&&

K2=K

END IF

CONTINUE

-STRING DA DHEADERRIEL, XFIDREENDOEFIZHRYT 53T
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961
962
963
964
965
966
967
968
969
970
971
972
973
974
975
976
977
978
979
980
981
982
983
984
985
986
987
988
989
990
991
992
993
994
995
996
997
998
999
1000
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IF (NWRD/=INDEX (STRING, " ")-1) THEN
STOP ' error: NWRD incorrect /GET_EQ_VAL
END IF

IF (NWRD==0) THEN
STOP ' error:STRING not detected /GET_EQ_VAL
END IF

END SUBROUTINE GET_EQ_VAL !—I&5ERL

SUBROUTINE GET_NAME_TYP (NAME, INTREL) | —IS5ER

check the variable name type (real? or integer?)

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER  NAMEx*6

INTREL=0 !&#IFEHZRE
———————————— (I-N) FEHTH D
IF (' 1" <=NAME (1:1). AND. NAME (1:1)<="N") INTREL=1 IBYTHS

9999 CONTINUE
END SUBROUTINE GET_NAME_TYP | —IS5ERL
SUBROUTINE GET_NODE_NDF6 (JEQS, NODE, NDF6) | —IS5ER

USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

find the node number (NODE) and the dof number (NDF6) for
the Egs number (JEQS)

NODE=0 ; NDF6=0

DO ND=1, NODES

DO N6=1, 6

NVAL=NEQNOD (ND, N6)

IF (NVAL==JEQS) THEN

NODE=ND ; NDF6=N6

GOTO 3000

END IF

END DO

END DO

WRITE(6,*) JEQS, ' error: not identified /NEQNOD/NEQS_NODE_DF6

T4,
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1001 STOP

1002 3000 CONTINUE

1003 END SUBROUTINE GET_NODE_NDF6 !—I&5ERL

1004 I-

1005 SUBROUTINE GET_INT (STRING, NVAL) ! needs recheck —I&5ERK
1006 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

1007 CHARACTER STRING*80, ZAHLx1

1008 !

1009 ! convert STRING*80 into integer

1010 ! (BREZRT XTI ZBBIET -4EHBRT 5)

1011 !

1012 ! impossible ! : -2333.442E-2

1013 ! ZEHEBZERW-XFER

1014 NWRD=LEN_TRIM (STRING)

1015 Il MR FEYELEL) OFEEFY)—

1016 DO K=1, NWRD

1017 IF (STRING (K:K)=="_") THEN

1018 WRITE(6, %) " error: “.” unacceptable/GET_INT’
1019 STOP

1020 END IF

1021 END DO

1022 ! check “E” and “D”

1023 NEXP=0  EROXES

1024 KED=0 | ERESDHLHNE

1025 I-—=(CFE", "¢, 'D', "d) d3B6ENI—DINHELND (2 D1F4ELY)—-
1026 KED=INDEX (STRING, ' E' ) +INDEX (STRING, &' ) +

1027 1 INDEX (STRING, ' D" ) +INDEX (STRING, ' d")
1028 I—BHESOLEMESE, RHMICHRTHZAOMEZE KED ITHRA
1029 IF (KED==0) THEN

1030 KED=INDEX (STRING, " ") I STRING IZIEXZFFIAEEE
1031 GOTO 4000

1032 END IF

1033 - EBRRBROHHHE (ERESOAEX KED)

1034 1500 CONTINUE

1035 - if E-03 : error IEARATHL LIFFHFShAEL

1036 DO 2000 K=KED+1, NWRD

1037 IF (STRING(K:K)=="-") THEN

1038 WRITE(6,*) " error:(E-03) unacceptable/GET_INT ’

1039 STOP

1040 END IF



1041
1042
1043
1044
1045
1046
1047
1048
1049
1050
1051
1052
1053
1054
1055
1056
1057
1058
1059
1060
1061
1062
1063
1064
1065
1066
1067
1068
1069
1070
1071
1072
1073
1074
1075
1076
1077
1078
1079
1080

T k) O REICKHEEREN], T4,

2000 CONTINUE
!

! “E+03” is ACCEPTABLE IN GET_INT
I-— check +03 rightward from E #§#&DF1v4
DO 3000 KK=1, NWRD-KED ! BHBOEES (EID)

K=NWRD-+1-KK IXFDINES (Eh D)
IF (STRING(K:K)=="+") GOTO 3000 !{5#(ERDFEEIET
l—— (FSIFHBELEELTY + OH)

ZAHL=STRING (K:K) I Bk IIDXFEEHRER
CALL NUMB (NO9, ZAHL) I 0-9 DEKIZEH
NEXP=NEXP+ NO9x (10 (KK-1)) ! BHOE (BRIET -9

3000 CONTINUE
| BRESOLZWNEE BRESIYEDEHS) —
4000 CONTINUE
|- check : -2333 without ”.” /NERIFHFY HFLLN——
NSCA=0 ! BRES LY EDHSOBHIME (BIET -5
NVRZ=+1 ! e
o leftward from E (}§%ECS - ZEHTDALE IS KED)
DO 5000 KK=1, KED-T ' LDES (EMD)
K=KED-KK ! XFDHNES (EMb)
- B OHIE check
IF (STRING(K:K)=="+") GOTO 5000 IERFSZEIRLI-08T
IF (STRING(K:K)=="-") THEN '8FEZHFImML5 NR=-1! HEEHEZIELT
GOTO 5000 ! #®T

—————— Ao (106N G)
ZAHL=STRING (K:K) | XFDSIES (Ehb)
CALL NUMB (NO9, ZAHL) I 0-9 DEKIZER
NSCA=NSCA+ NO9= (10 (KK-1))  fIDBES (EMD)
5000 CONTINUE
R m— HEEEE
NSCA=NVRZ*NSCA ! $5HEES & Y EDE D DEHME (BIET -5
l——— BERBEOXFINEKRT HRMERHGBHIE (KET -
NVAL=NSCA* (10*+NEXP)
GOTO 9500

9500 CONTINUE
END SUBROUTINE GET_INT | needs recheck —IG5ERk
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1081
1082
1083
1084
1085
1086
1087
1088
1089
1090
1091
1092
1093
1094
1095
1096
1097
1098
1099
1100
1101
1102
1103
1104
1105
1106
1107
1108
1109
1110
1111
1112
1113
1114
1115
1116
1117
1118
1119
1120

T k) O REICKHEEREN], T4,

SUBROUTINE GET_REL (STRING, SVAL) ! needs recheck —FS5ERL
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER STRING+80, ZAHLx*1

KREZERT DXFINERET -HIEMmT 51 -2333. 442E-02

ZAMERVEXFR
NWRD=LEN_TRIM (STRING)

—(E, "¢, 'D, 'd) dILENM—DIHHEMNE (2 DIEAELY)

KED=INDEX (STRING, "E’ )+INDEX (STRING, " e’ ) +INDEX (STRING, 'D* )
1 +INDEX (STRING, "d" ) | ERESDHLHMUE

NEXP=0  EROXES

—RHRBETHEMES . (-2333.442) DFEZEF1v)

IF (KED==0) GOTO 4000

CONTINUE

———————————— HEOMMRE EET3)

NVRZ=+1

————— RIS DL T

DO 3000 KK=1, NWRD-KED HEHE DU ES (BHb)

K=NWRD+1-KK IXFOHES (EMD)
ZAHL=STRING (K:K) I Bk IIDXFEHER
IF (ZAHL=="+") GOTO 3100 IERSEHEMLEGRT
IF (ZAHL=="-") THEN IBFFSEERLEL
NVRZ=-1 | HSZEHEESET
GOTO 3100 ! ®’T
END IF
CALL NUMB (NO9, ZAHL) I 0-9 OEHKIZEM
NEXP=NEXP+NO9* (104 (KK-1)) | f&¥tDfE (E%K{ET -4
CONTINUE
CONTINUE

- BROE (BOBRET -41AYRFS) E-03

NEXP=NEXP=+NVRZ

CONTINUE

= fEHES (FEFZBH) MSEDEZITDOLNT @ -232.675
IF (KED==0) THEN | BRERBETAWNES
KED=INDEX (STRING, " ') ! R¥IDZEADF|EFS % KED [Z4&#H
END IF
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1121
1122
1123
1124
1125
1126
1127
1128
1129
1130
1131
1132
1133
1134
1135
1136
1137
1138
1139
1140
1141
1142
1143
1144
1145
1146
1147
1148
1149
1150
1151
1152
1153
1154
1155
1156
1157
1158
1159
1160
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| ”

1--"-3

NVRZ=+1 IFS0BAHE

SUM=0. 0 IEHHED#HAE
-------- DEE 7T ORIE  KPNT

KPNT=INDEX (STRING, " . ")

PERGE LDOEE: "-907654E-027, "-6766" 11 &

IF (KPNT.EQ.0) THEN IDERE LGS

KPNT=KED HEHELS (F=XZBE) DIIFESZ KPNT (218K
GOTO 5000 ' O EDE (BH) Dk~

END IF

322147 3 PBRBLOBELERELLC, 1DMULDOME (BH) Dk~

IF (KPNT==NWRD) GOTO 5000

2214 E-09"% DPERLGLOBZEELRLL, 10U EDE EH) OHLA~

IF (KPNT+1==KED) GOTO 5000

————— “-45.0" "-.32107 “56." ML I

BRRELGL, 28RbHY

ZEHBOMEARKEDOXFORICHES 5155 :  KED=NWRD+1=INDEX (STRING, " ")
MR RV AEDES UMEELT) , JIFEST KPNT & KED O ZF1y)

IF (KPNT==KED) GOTO 5000 ! /MNARLUTOXFII £ AL

DO 6000 K=1, KED-KPNT-T b mm s BIZAITT
KK=KPNT+K | XFEDHNES
ZAHL=STRING (KK:KK) | XF DR

CALL NUMB (NO9, ZAHL) I 0-9 OEHKIZEH
SUM=SUM+DBLE (N09) * (DBLE (10) #+DBLE (-K)) ! /MmLLTOELIE
CONTINUE

—— N T “skrekx 05545237 DI/LNVRT
sum = NIELDTOERE BIET -5
IMEAE 1FIBICHRY 555 7. 46287 ————-
IF (KPNT==1) GOTO 8000 ! /MR &LYERSTDNEFE
————— “-.9554523" "“-325532.9554523"

CONTINUE

MR K YERS DI 1 "-325532. wekkorir”
DO 7000 K=1,KPNT-1 ! {u% CUMIR&EYEICEITT)

KK=KPNT-K | XFEDHNES

ZAHL=STRING (KK :KK) | XFDHNES

IF (ZAHL=="+") GOTO 7000 IERSEHEMLEGRT

IF (ZAHL=="-") THEN IBFSEERLEL
NVRZ=-1 | HESEHEESET

GOTO 7000 ! ®’T

20/MAI/2013



1161
1162
1163
1164
1165
1166
1167
1168
1169
1170
1171
1172
1173
1174
1175
1176
1177
1178
1179
1180
1181
1182
1183
1184
1185
1186
1187
1188
1189
1190
1191
1192
1193
1194
1195
1196
1197
1198
1199
1200
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END IF

CALL NUMB (NO9, ZAHL) I 0-9 DEKIZEH
SUM=SUM+DBLE (NO9* (104 (+K-1))) | /Mm& Y EDEHKIE (BT -5
CONTINUE

CONTINUE

——HERRBEOXFINEKRT 5 RMERMTELRIME (KIET -

SVAL = DBLE (NVRZ) *SUM%DBLE (10) **DBLE (NEXP)

CONTINUE
END SUBROUTINE GET_REL ! needs recheck —In5ERk

SUBROUTINE DATA_MEMO D ART 577000 REE
CHARACTER TEXT80%80

GALL OPEN_FD_OUT
WRITE(11," (©
1 D)

WRITE (11, " (14X, “<frame05> Ver 18AUGO8 for 2D Frame Structures”)’)
WRITE(11," (©
1 D)
WRITE(11," (" +———(MEMO)
1 )"

|- D E—1TH MEMO) 9 TIZHRARFEAL TS —

1000

WRITE (%, %) ' (MEMO) being processed’
CALL READ_LINE (TEXT80) | #5AIAL T+ & nothing done

IF (INDEX (TEXT80, ' END ")==0) THEN ! "END” Tl Mz&
WRITE (%, " (2X, A75)") TEXT80

WRITE(11," (2X, A75)") TEXT80

GOTO 1000 ! "END | THRITS

ENDIF

CALL CLOSE_FD_OUT

END SUBROUTINE DATA_MEMO ! AXT -377/MDIREE

SUBROUTINE DATA_SYSTEM ! &t5Y 37" 2K DFIEIAN 55-5
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
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1201
1202
1203
1204
1205
1206
1207
1208
1209
1210
1211
1212
1213
1214
1215
1216
1217
1218
1219
1220
1221
1222
1223
1224
1225
1226
1227
1228
1229
1230
1231
1232
1233
1234
1235
1236
1237
1238
1239
1240

T k) O REICKHEEREN], T4,

CHARACTER TEXT80+«80, STRING+80, NAMEx6

CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, ' (SYSTEM)')==0) THEN

STOP ' error: (SYSTEM) missed!’

ENDIF

WRITE(6, %) ' (SYSTEM) being processed '

-——— inital setting ———————-

ELE LIB = "B2D_LIN' | default

CODE=" XY’ | default I AR+ IEL XYZ-EEIZR (BEERD THE) 'PL =Polar
INPNEQ=0

ISKYLN=1

INWAIT=0

IPELEK=0 ! 15/0ct/98

IPSYSK=0 ! 11/0ct/03

IPPVEC=0 ! 11/0ct/03

IPSOLV=0 ! 11/0ct/03

ICGINI=0 ! for Win3D 20/Nov/98

ICGDEF=0 ! for Win3D 26/Dez/98

ICGXLS=0 ! 27/JAN/05

NCGDEF=10 ! =10/100/1000 coded: 30/Jan/05
SCGDEF=10.0 ! 26/Dez/98

CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, "END") /=0) GOTO 9000 ! END 177 5

IF (INDEX (TEXT80, ' =")==0) THEN

STOP " error: “=" missed/ (SYSTEM)

ENDIF

----- EFSRLEOME —

KEQ=INDEX (TEXT80, " =") ! TEXT80 TD"="M{I& % £EEX
STRING(1:80)=" " | ##A1k

======== [EHK3— F4& "ELE_LIB=" ]MXH

IF (INDEX (TEXT80, ' ELE_LIB') /=0) THEN | "ELE_LIB=" ®Z&

DO K=KEQ+1, 80 I get ESOAEICHLIERI-V

STRING (K:K) =TEXT80 (K:K) I —fRICIEZRICEEA TS

ENDDO
STRING=ADJUSTL (STRING) | EICEDHD

NWRD=LEN_TRIM(STRING) ! ZAHMZERL\=XFE&

IF (NWRD/=7) THEN
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1241
1242
1243
1244
1245
1246
1247
1248
1249
1250
1251
1252
1253
1254
1255
1256
1257
1258
1259
1260
1261
1262
1263
1264
1265
1266
1267
1268
1269
1270
1271
1272
1273
1274
1275
1276
1277
1278
1279
1280

T b OREICK BEERN,

STOP ' error: ELE_LIB not 7 characters /(SYSTEM)
END IF
DO K=1,7 ! &9 7TXF
ELE_LIB(K:K)=STRING (K:K)
END DO
WRITE (%, %) " ELE_LIB :=', ELE_LIB
GOTO 1000 ! go to the next data line
ENDIF ! ELE_LIB
= [EE#E— F4& “CODE="]M#EER
IF (INDEX (TEXT80, ' CODE' ) /=0) THEN ! EEZERDIEENHHEHE
CODE="*x" | temporary code
IF (INDEX (TEXT80, " XY')/=0) ~ CODE="XY" ! XY  EEE%R
IF (INDEX (TEXT80, 'PL' ) /=0) CODE="PL" ! POLAR EE#Z%
IF (CODE=="s*") THEN
STOP ' error: “CODE=" incorrect/ (SYSTEM) '

ENDIF
WRITE(*,*%) " CODE :=", CODE
GOTO 1000 ! read the next line
ENDIF

CALL GET_NAME_EQ (TEXT80,KEQ, STRING) ! get ZEEAINDEHE
! | STRING £38
|————STRING*80 DA ANAN S S TEMD 6 XF ZHRENL T NAMEXS ~HE#8

DO K=1,6 | BK 6 XFETHLEHS

NAME (K :K) =STRING (K : K)

ENDDO
| EHBOEHAL) BHEOEHELH

CALL GET_NAME_TYP (NAME, INTREL)

KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND, STRING) ! STRING ZDé&
- EHANERHE - BHEIZKY LY 5K

IF (INTREL==0) GOTO 3000

IF (INTREL==1) GOTO 4000

WRITE(6,%) " ', NAME," error:INTREL incorrect/ (SYSTEM)

STOP
- ERAEDERHEDGE—
3000 CONTINUE

CALL GET_REL (STRING, SVAL)

%

1t
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1281 - DATA_SYSTEM D 7ah DERFDEHE EREHK
1282 IF (NAME=="SCGDEF') = SCGDEF=SVAL

1283 WRITE(6,*) " ', NAME," :=", SVAL

1284 GOTO 1000

1285  l————— THANBREDZE-XFI e BHBHIET -4 Eif
1286 4000 CALL GET_INT(STRING, NVAL)

1287 = DATA_SYSTEM D 7ah DERFDEHKBEHREHK

1288 IF (NAME=="MENTS ") MENTS=NVAL

1289 IF (NAME=="NODES ') NODES=NVAL

1290 IF (NAME=="NSECTS’ ) NSECTS=NVAL

1291 IF (NAME=="INPNEQ" ) INPNEQ=NVAL

1292 IF (NAME==" INWAIT") INWAIT=NVAL

1293 IF (NAME==" IPELEK" ) IPELEK=NVAL

1294 IF (NAME=="IPSYSK' ) IPSYSK=NVAL

1295 IF (NAME==" IPPVEC" ) IPPVEC=NVAL

1296 IF (NAME==" IPSOLV" ) IPSOLV=NVAL

1297 IF (NAME==" IPHIDN") IPHIDN=NVAL

1298 IF (NAME==" ICGINI") ICGINI=NVAL

1299 IF (NAME==" ICGDEF" ) ICGDEF=NVAL

1300 IF (NAME==" ICGXLS' ) ICGXLS=NVAL ! 16/DEZ/2003
1301 IF (NAME=="NCGDEF" ) NCGDEF=NVAL

1302 !

1303 WRITE(6, %) " ', NAME," := ", NVAL

1304 !

1305 5000 GOTO 1000 I END fTZEEHRARFLVRY KT
1306 !———— YATIN FA-IDERAAFHEET

1307 9000 CONTINUE ! END fT&EHAHAHFE LT

1308 !

1309 SELECT CASE (ELE_LIB)

1310 CASE ("B2D_LIN")

1311 MNODES=2 ; MDOFS =6

1312 CASE ("T2D_LIN")

1313 MNODES=2 ; MDOFS =4

1314 CASE DEFAULT

1315 STOP ' error: ELE_LIB not identified in (SYSTEM)’
1316 END SELECT

1317 BMELY (WEGEEREZER)

1318 ALLOCATE (NODELE (MENTS, MNODES)) ;NODELE=0 ! &EXR%ZWHT HHAES
1319 ALLOCATE (NEQNOD (NODES, 3) ) NEGNOD=0 ! BREIRDEREMES

1320 ALLOCATE (NEQELE (MENTS, MDOFS) ) ;NEQELE=0 ! RERDEHREMES
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1321 ALLOCATE (SECTYP (NSECTS, 2) ) :SECTYP=0. 0 | ZURENMT DEE
1322 ALLOCATE (MATSEC (MENTS) ) MATSEC=0 | BREXROMEMI ES
1323 ALLOCATE (UVWNOD (NODES, 2) );UVIENOD=0.0 ! REiLDIELEN (C6 F)
1324 ALLOCATE (XYZNOD (NODES, 2) ) sXYZNOD=0.0 ! B8 DEIZIE
1325 ALLOCATE (ELEK (MDOFS, MDOFS) ) ELEK=0.0 | ZEZZRRIM41T5

1326 IF(ELE_LIB=="B2D_LIN') THEN

1327 ALLOCATE (PQELE (MENTS, 6) ) ;PQELE=0.0 ! EROF @& =551
1328 ALLOCATE (BALPQ (MENTS, 4) ), BALPQ=0.0 ! global PQ ##far ERE
1329 ALLOCATE (CALPQ (MENTS, 4) ), CALPQ=0.0 ! local PQ H#frERE
1330 END IF

1331 !

1332 END SUBROUTINE DATA_SYSTEM !E+&?Y" 37" 2D FIE AN 74-4

1333 !-

1334 SUBROUTINE DATA_NODE VT R AR

1335 USE GLOBALOS

1336 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

1337 CHARACTER TEXT80%80, STRING+80

1338 !

1339 CALL READ_LINE (TEXT80)

1340 IF (INDEX (TEXT80, * (NODE) " )==0) THEN

1341 STOP ' error: (NODE) missed!’

1342 ENDIF

1343 WRITE (6, %) ' (NODE) being processed’

1344 ND=0 ! EEAAATZ EimEBDN)vs-

1345 |

1346 1000 CONTINUE

1347 CALL READ_LINE (TEXT80) ' (NODE) DR DT & A2 e
1348 o write(x,%) TEXT80

1349 IF (INDEX (TEXT80, ' END' ) /=0) GOTO 2000 ! END 4T AHHIR L 7-B¥
1350  l-————-

1351 IF (INDEX (TEXT80, " NODE' ) ==0. OR. INDEX (TEXT80, '=")==0 ) THEN

1352 STOP " error:“NODE=" missed/ (NODE)’

1353 ENDIF

1354  l-———— HREE X, Y) DFAHIAAH

1355 ND=ND+1 I SARAAT EiRBDHS-

1356 KEQ=INDEX (TEXT80, '=") | HFHELEDLE % HEX

1357 !

1358 ! NODE = EimZES XY : i = FE 8

1359 ! NODE = 322 XY : -9.08 78.0

1360 l-————— HRESZRM



1361
1362
1363
1364
1365
1366
1367
1368
1369
1370
1371
1372
1373
1374
1375
1376
1377
1378
1379
1380
1381
1382
1383
1384
1385
1386
1387
1388
1389
1390
1391
1392
1393
1394
1395
1396
1397
1398
1399
1400
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KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

CALL GET_INT(STRING, NVAL) ! EiRBES#EHBIET -JITEHR
IF (NVAL/=ND) THEN

STOP ' error: “NODE=" node# ?/(NODE)

ENDIF

KEQ=INDEX (TEXT80," :") ! XY ":" EEEDALIE ZHREX
————— X EERRZRER

KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

CALL GET_REL(STRING, X) ! X EEAZZ#EHBHIET -4 L
XYZNOD (NVAL, 1)=X

— Y EEERR-——

KSTART=KEND+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

CALL GET_REL(STRING,Y) ! Y EEAZZ#EHBIET -4 L
XYZNOD (NVAL, 2) =Y

GOTO 1000 | $RTOEHRIZDOVTEYIET
CONTINUE

3300

IF (ND/=NODES) THEN
STOP ' error: "NODE=" not for all nodes/(NODE)
END IF

————— BEITIS U BRE R & RIS NIT SO RRRER——————

XY: DO N=1, NODES

IF (CODE=="PL') THEN ! 48 EE{E%
TH=XYZNOD (N, 1) ; R=XYZNOD (N, 2)

X= R * COS (TH« (3. 141592654/180.))

Y= R * SIN(TH* (3. 141592654/180.))
XYZNOD (N, 1)=X : XYZNOD (N, 2)=Y

END IF !IF (CODE=="PL’)

—————— XY ERERIELEDESE
X=XYZNOD (N, 1) : Y=XYZNOD (N, 2)
WRITE (%, 3300) N, X, Y

FORMAT (2X, " node#:", 15," (X,Y) :', 2E13.5)
IF (INWAIT/=0. AND. MOD (N, 20)==0) CALL WAIT
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1401
1402
1403
1404
1405
1406
1407
1408
1409
1410
1411
1412
1413
1414
1415
1416
1417
1418
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1420
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1422
1423
1424
1425
1426
1427
1428
1429
1430
1431
1432
1433
1434
1435
1436
1437
1438
1439
1440
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ENDDO XY
END SUBROUTINE DATA_NODE I R AR
SUBROUTINE DATA_ELE | EREM

USE GLOBALOS
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

4000

CHARACTER TEXT80%80, STRING+*80
CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, " (ELE)')==0) THEN
STOP " error: (ELE) missed I
ENDIF

WRITE (x,%) " (ELE) being processed
M=0! ZEREDN/-

CONTINUE

END {7 & EARAT D —
CALL READ_LINE (TEXT80)
IF (INDEX (TEXT80, " END' ) /=0) GOTO 9000

IF (INDEX (TEXT80, ' ELE' )==0. OR. INDEX (TEXT80, '=")==0 ) THEN
STOP ' error: "ELE=" missed /(ELE)’
ENDIF

M=M+1 1 ERBDNII-
KEQ=INDEX (TEXT80, '=") ! S DN EDFER

1300

ELE = ER&ES HRES BRE(7 &S
ELE = 12 NODE: 8 9 SECTYP : 1
-------- EFSNT CAILHLERBESDER-
KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_INT (STRING, M)

KEND=INDEX (TEXT80, " :") ! —&F&EEIZHS":" DMEDHR

DO 1300 ND=1, MNODES ! B-ZEHRIZDL THisIE MNODES @& %
KSTART=KEND+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

CALL GET_INT (STRING, NVAL)

NODELE (M, ND) =NVAL

CONTINUE
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1441
1442
1443
1444
1445
1446
1447
1448
1449
1450
1451
1452
1453
1454
1455
1456
1457
1458
1459
1460
1461
1462
1463
1464
1465
1466
1467
1468
1469
1470
1471
1472
1473
1474
1475
1476
1477
1478
1479
1480

T b OREICK BEERN,

TEXT80 (1:KEND) =" " | BEAA R EEEER

——————— W7 B TYP: OIRE-

KEQ=INDEX (TEXT80, " :") ! 2BEEBE®":" DEEDHER
KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_INT (STRING, NVAL)

MATSEC (M) =NVAL

GOTO 4000 !F¥RTHERICDODVTHEARAT
CONTINUE

—————————— 19v5- & M- BRMDI)

IF (M/=MENTS) THEN
STOP ' error:"ELE=" not for all elements/ (ELE)
END IF

DO M=1, MENTS

WRITE (%," (" element <", 15,"> "~ node A & B:”, 215
1” sectyp:”, 13)")

1 M, NODELE (M, 1), NODELE (M, 2), MATSEC (M)

IF (INWAIT/=0. AND. MOD (M, 5)==0) CALL WAIT
END DO ! for all elements

END SUBROUTINE DATA_ELE | ExREM

——&MEM7 DT -4

SUBROUTINE DATA_SECTYP | BREA7 DT -4
USE GLOBALOS

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

CHARACTER TEXT80%80, STRING+80

CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, " (SECTYP)')==0) THEN

STOP " error: (SECTYP) missed !’

END IF

WRITE(6, %) ' (SECTYP) being processed '

ME ) BES EA El
TYP=1 EAEI: 100.0 10.0

1000

CONTINUE
NSECT=0 !BrE4{7" HFESDI/4— DA

T%tt, 20/MAI/2013
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1481 2000 CONTINUE

1482 CALL READ_LINE (TEXT80)

1483 IF (INDEX (TEXT80, " END") /=0) GOTO 9000

1484 IF (INDEX (TEXT80, ' TYP")==0) THEN

1485 STOP " error:“TYP=" missed/ (SECTYP) !’

1486 END IF

1487 o

1488 NSECT=NSECT+1

1489 KEQ=INDEX (TEXT80, '=") !FSHEDNuE

1490 - WREY7 TS DI —DIFRR———

1491 KSTART=KEQ+1

1492 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1493 CALL GET_INT(STRING, NVAL) ! BREH(7 &S
1494 KEQ=INDEX (TEXT80," :") ! &&&":" OHE

1495 |- EA DR ————-

1496 KSTART=KEQ+1

1497 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1498 CALL GET_REL (STRING, EA)

1499 SECTYP (NVAL, 1) =EA

1500 e El ¥RER-—-

1501 KSTART=KEND+1

1502 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1503 CALL GET_REL (STRING, EI)

1504 SECTYP (NVAL, 2)=EI

1505 !

1506 GOTO 2000 ! ITRTO HEMT BES [CDOVTRYERYT
1507 9000 CONTINUE

1508 IF (NSECT/=NSECTS) THEN

1509 STOP ' error: more “TYP=" needed/ (SECTYP)'
1510 END IF

1511 = BERR——

1512 DO NSECT=1, NSECTS

1513 WRITE (%, " (" sectyp #:7,13,”  EA=", E12.5,” El=:",E12.5)")
1514 1 NSECT, SECTYP (NSECT, 1), SECTYP(NSECT, 2)
1515 IF (INWAIT/=0) CALL WAIT

1516 END DO

1517 END SUBROUTINE DATA_SECTYP ! BKRE47° D7 -4
1518 !

1519 SUBROUTINE DATA_DOF ! HimZEfIDMEREH

1520 USE GLOBALO5



1521
1522
1523
1524
1525
1526
1527
1528
1529
1530
1531
1532
1533
1534
1535
1536
1537
1538
1539
1540
1541
1542
1543
1544
1545
1546
1547
1548
1549
1550
1551
1552
1553
1554
1555
1556
1557
1558
1559
1560

T k) O REICKHEEREN], T4,

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER TEXT80%80, STRING+80

—————— " (DOF) " M ERH A Fp ===
CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, " (DOF)')==0) THEN

STOP " error: (DOF) missed I

END IF

WRITE (x,%) " (DOF) being processed

IF (INPNEQ==1) GOTO 100

I INP

NEQ=0 D & =&, EEHEDEHREHEIZEE ON-HEREEHIZET 51FR
NEQNOD (NODES, 3) # &AL
NODE=45 DOF: 101 I O=constrained 1=NOT constrained

HmZEY—ICEMSEHHEE
(A B,C) & BN —fEIZ LMAERTERL

NODE=15  DOF: 10A PA: CORESOHRBEREIEEVICRILEZE S
NODE=16  DOF: BCA IB: CORESNHRBRERIEEVICRILEZE S
NODE=17  DOF: BC1 C: CORESNHRBRERIEEVICRILEZE S
NDOFS=0 ; ND=0 ! NDOFS Dh9v3-D - D#EAE-
NEQNOD=0
NEQAAA=0;NEQBBB=0;NEQCCC=0 ! H—ZEMDIZFE B TIL—TDH)

2000 CONTINUE

————————— END Z&EARATFZ LT ——

CALL READ_LINE (TEXT80)

IF (INDEX (TEXT80, "END") /=0) GOTO 9000 ! &FsA#&T

IF (INDEX (TEXT80, ' NODE' ) ==0. OR. INDEX (TEXT80, "=")==0 ) THEN
STOP ' error:“NODE=" missed/ (DOF) !"

END IF

KEQ=INDEX (TEXT80, '=") ZESDHME

ND=ND+1

NODE=45 DOF: 001 ! O=constrained 1=NOT constrained
——————— ESNDI CHIZHHH RES NODE DIFE
KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

20/MAI/2013



1561
1562
1563
1564
1565
1566
1567
1568
1569
1570
1571
1572
1573
1574
1575
1576
1577
1578
1579
1580
1581
1582
1583
1584
1585
1586
1587
1588
1589
1590
1591
1592
1593
1594
1595
1596
1597
1598
1599
1600

T k)Y REICKHEEMRHT], T4, 20/MAI/2013

CALL GET_INT (STRING, NODE)

KEQ=INDEX (TEXT80," :") | ":" D{uE
KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
IF (LEN_TRIM(STRING) /=3) THEN

STOP " error: 3E 3 3X=F1-+/(DOF)’

END IF

DO K=1, 3 ! 101, ABO, 11A,....

- B— Jtn BHE

IF (STRING(K:K)=="1") THEN
NDOF S=NDOF S+1
NEQNOD (NODE, K) =NDOFS

END IF

- o #X BHE

IF (STRING(K:K)=="0") THEN
NEQNOD (NODE, K)=0
END IF

R YN—7 A BEE

IF (STRING(K:K)=="A") THEN
IF (NEQAAA==0) THEN

NDOF S=NDOF S+1
NEQAAA=NDOFS
NEQNOD (NODE, K) =NEQAAA

END IF

IF (NEQAAA/=0) THEN
NEQNOD (NODE, K) =NEQAAA

END IF

END IF

e YN—7 B Bk

IF (STRING(K:K)=="B") THEN
IF (NEGBBB==0) THEN

NDOF S=NDOF S+1
NEQBBB=NDOFS
NEQNOD (NODE, K) =NEQBBB

END IF

IF (NEGBBB/=0) THEN
NEQNOD (NODE, K) =NEQBBB

END IF



T k)Y REICKHEEMRHT], T4, 20/MAI/2013

1601 END IF

1602 = JIL—7 C BEHE

1603 IF (STRING (K:K)=="C") THEN

1604 IF (NEQCCC==0) THEN

1605 NDOF S=NDOF S+1

1606 NEQCCC=NDOFS

1607 NEQNOD (NODE, K) =NEQCCC

1608 END IF

1609 IF (NEQCCC/=0) THEN

1610 NEQNOD (NODE, K) =NEQCCC

1611 END IF

1612 END IF

1613 R

1614 END DO

1615 GOTO 2000 ! $RTOEHRIZDOVTEYIERT

1616 !

1617 I'INPNEQ=1 D& E QRABERTHREMESZEERANT H5F)
1618 ! EERDHREMESZEEAS

1619 ! NEQELE (MENTS, MDOFS) % Fed+iAd>

1620 ! ELE=45  NEQ: 00230 113 P ART -hE LTEBLIEBREMNES
1621 ! NDOFS = BAMOENTF=F R TCOERESDHEADRKIE

1622 ! debugged=========== 12APR205 ========
1623 100 CONTINUE

1624 NDOFS=0 ; MENT=0

1625 200 CALL READ_LINE (TEXT80)

1626 IF (INDEX (TEXT80, " END") /=0) GOTO 9000

1627 IF (INDEX (TEXT80, ' ELE")==0. OR. INDEX (TEXT80, '=")==0 ) THEN !"ELE = " @ check
1628 STOP ' error: “ELE=" missed/ (DOF) !

1629 END IF

1630 KEQ=INDEX (TEXT80, '=") !FSHEDNUE

1631 MENT=MENT+1

1632 !

1633 ! ELE=45 NEQ: 0 23 13 I 2D TRUSS

1634 - ERRENYT CEHIZHLIERES NE DIRE

1635 KSTART=KEQ+1

1636 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

1637 CALL GET_INT (STRING, ME)

1638 -

1639 KEND=INDEX (TEXT80, " :") ! “NEQ : "@{i& 12APR2005

1640 DO MDF=1, MDOFS ! ERBHEHKIZDOLT



1641
1642
1643
1644
1645
1646
1647
1648
1649
1650
1651
1652
1653
1654
1655
1656
1657
1658
1659
1660
1661
1662
1663
1664
1665
1666
1667
1668
1669
1670
1671
1672
1673
1674
1675
1676
1677
1678
1679
1680

T k) O REICKHEEREN], T4,

KSTART=KEND+1 ! 12APR2005

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING) ! EimZEHIZE S DIRE
CALL GET_INT (STRING, NVAL)

NEQELE (ME, MDF) =NVAL

IF (NDOFS<NVAL) NDOFS=NVAL ! NDOFS:HKDHi mEMES

END DO

GOTO 200 ! I RTHERITDOVNTHEYERT

CONTINUE

IF (INPNEQ==0. AND. ND/=NODES) THEN ! RTOEFRIZDWLTT -41HdH
STOP ' error: “NODE=" not for all nodes /(DOF)

END IF

IF (INPNEQ==1. AND. MENT/=MENTS) THEN ! RTOERIZDU\TT -4H5 M
STOP ' error:"ELE=" not for all elements/ (DOF)
END IF

BHES (RWELRIEEREHR) ——-
HEA IMEFR-—

ALLOCATE(  PVEC (NDOFS) );PVEC=0.0 ! EZEH p DFEANIM e
ALLOCATE ( RHS (NDOFS) )iRHS=0.0 ! #EIAEAXDADIE (—Hi)
ALLOCATE (  TTLDOF (NDOFS) ) ; TTLDOF=0. 0

ALLOCATE ( LSKYPVT (NDOFS) ) ; LSKYPVT=0

3400

3434

LSKYPVT (1) =1

DO L=2, ndofs

LSKYPVT (L) =LSKYPVT (L-1) +(L-1)

ENDDO

---------- BEEH S NEGNOD (nodes, 3)

IF (INPNEQ==0) THEN

DO ND=1, NODES

WRITE (6, 3434) ND, (NEQNOD (ND, N6), N6=1, 3)
FORMAT (2X, " node #:',15," eqs # for 3 dofs:’, 316)
IF (INWAIT/=0. AND. MOD (ND, 20)==0) CGALL WAIT

END DO

CALL PUT_NEQELE IBRCEDHREMBESDER
END IF I end if INPNEQ=0

—————— {71 NEQELE (ments, mdofs)

CONTINUE

DO M=1, MENTS

20/MAI/2013
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1681 WRITE (x,” (" element <:”,15,” >",”  dof# :”,615)")

1682 1 M, (NEQELE (M, N), N=1, MDOFS)

1683 IF (INWAIT/=0. AND. MOD (MENT, 4)==0) CALL WAIT

1684 END DO ! MENT=1, MENTS

1685 - AR 1 Rk ——————

1686 LSKYMAX= (NDOF S*NDOF S-NDOFS) /2+NDOF S

1687 ALLOCATE ( SYSK(LSKYMAX) ) ;SYSK=0.0 I RItEST 5
1688 ! EIEH N

1689 WRITE (6, *)

1690 WRITE(6," (" HREBEHBED% (NDOFS) =",13)") NDOFS

1691 WRITE (6, *)

1692 END SUBROUTINE DATA_DOF | R DXRFEY

1693 I-

1694 SUBROUTINE PUT_NEQELE !

1695 USE GLOBALO5

1696 IMPLICIT INTEGER (I-N), REAL(8) (A-H, 0-2)

1697 !

1698 I only for INPNEQ=0 & (all pinned/ all rigid node Z#{X3E) .
1699 I NODELE (MENTS, MNODES) ‘#{EHREZEET AEROHHAES

1700 ! NEQGNOD (NODES, 3) BREROHREHENHRBEHRERS (FEXES)
1701 ! mi

1702 I' NEQELE (MENTS, MDOFS) : &#EZRMDH REHMEES (HEXES)
1703 ! EERT .

1704 !

1705 NDFS=MDOFS/MNODES ! 1 &im&-Y D EHE - EREHE/EREH R
1706 MDF S=MDOFS 1T ERH-YDOEHE

1707 NEQELE=0 ! initialized

1708 l———— Himd Uk -EEE BHEOH-—-

1709 NUVW=2 ' 1 Ei RO ESHEDH (2D)

1710 NHHH=NDFS - NUVW ! 1 Hi R D %L B HE DO

1711 !

1712 DO M=1,MENTS | FFEREFBS N ZHE

1713 MDF=0

1714 DO N=1,MNODES ! ZHRHHHES N ZHTE

1715 ND=NODELE (M, N) ! RDEIRES ND ZHE:

1716 ! I Cofim ND O RBEHEOAEXBESERHL
1717 !

1718 NDF=0

1719 DO N6=1,NUW ! F I HimDIHEBHEICDINT

1720 NDF=NDF+1



1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732
1733
1734
1735
1736
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752
1753
1754
1755
1756
1757
1758
1759
1760

T b OREICK BEERN,

MDF=MDF+1
NEQELE (M, MDF) =NEQNOD (ND, N6) ! Eim BEHEES TR T
END DO

IF (NHHH==0) CYCLE 'EIZzEBEALZTAIE ROH R~
20—

MDF=MDF+1
NDF=NDF+1
NEQELE (M, MDF) =NEQNOD (ND, 3) ! EimBHEES 5T

IF (NDF/=NDFS) THEN
STOP " error: NDF/=NDFS /PUT_NEQELE
END IF

END DO I EREAES (1-NNODES) 245 7E
IF (MDF/=MDFS) THEN

STOP " error: MDF/=MDFS /PUT_NEQELE

END IF

END DO I ZRES (1-MENTS) 4%

END SUBROUTINE PUT_NEQELE

SUBROUTINE DATA_LOAD ! RIEFHDHEE EFEF —IETRK
USE GLOBALOS
INPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER TEXT80%80, STRING*80
——————————— (LOAD) 77 DD i s d——
CALL READ_LINE (TEXT80)
IF (INDEX (TEXT80, * (LOAD) " )==0) THEN
STOP ' error: (LOAD) missed !
END IF
WRITE (, )" (LOAD) being processed

DMEE
ELE=13 GBL: PA QA PB OB
ELE=56 LCL: Pa Qb Pb Qb

INPNEQ=0 Him&ES HBHEEFS0-6 F[HEOKESH-)
NODE= 11 DOF6 : 1 LOAD: -4.5

%

1t
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1761 ! INPNEQ=1 HREMES (HEXES) FMEOKETE(+-)

1762 ! NEQ = 322 LOAD: -4.5

1763 !

1764 1000 CONTINUE

1765 CALL READ_LINE (TEXT80)

1766 1100 IF (INDEX (TEXT80, "END')/=0) GOTO 9000 ! END fT#&eAA =5
1767 ! PREMEOHE ——————

1768 IF (INDEX (TEXT80, ' ELE") /=0. AND. ELE_LIB/="B2D_LIN') THEN
1769 STOP ' error: “ELE=" only for B2D_LIN/(LOAD)’

1770 END IF

1771 IF (INDEX (TEXT80, ' ELE") /=0. AND. INDEX (TEXT80, "GBL") /=0) GOTO 5000
1772 IF (INDEX (TEXT80, ' ELE") /=0. AND. INDEX (TEXT80, 'LCL")/=0) GOTO 7000
1773 ! check ———

1774 IF (INDEX (TEXT80, " NODE' ) /=0. AND. INPNEQ==1) THEN

1775 STOP ' error: “NODE=" not for INPNEQ=1/(LOAD)’

1776 END IF

1777 ! check ——————-

1778 IF (INDEX (TEXT80, " NEQ" ) /=0. AND. INPNEQ==0) THEN

1779 STOP ' error: “NEQ=" not for INPNEQ=0/(LOAD)’

1780 END IF

1781 !

1782 IF (INDEX (TEXT80, ' NODE' ) ==0. AND. INDEX (TEXT80, ' NEQ" ) ==0. AND.
1783 1 INDEX(TEXT80, "ELE')==0) THEN

1784 STOP ' error: “ELE="or“NODE="or “NEQ="missed/ (LOAD)'

1785 END IF

1786 !

1787 IF (INDEX (TEXT80, 'NEQ')/=0. AND. INPNEQ==1) GOTO 3000

1788 IF (INDEX (TEXT80, ' NODE' ) /=0. AND. INPNEQ==0) GOTO 3000

1789 STOP ' error: line not acceptable /(LOAD)’

1790 ! [HRTENEZS]

1791 3000 KEQ=INDEX (TEXT80, =") 'HES D& NEQ= or NODE=
1792 Il HRBES/AEXES DRI

1793 KSTART=KEQ+1

1794 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)

1795 CALL GET_INT(STRING, NVAL) ! NVAL=Eim &S or AIERXES
1796 R NODE= 21 DOF6: 2  LOAD:-4.5 —————————
1797 IF (INPNEQ==0) THEN

1798 KEQ=INDEX (TEXT80," :') | " D{fui@

1799 KSTART=KEQ+1

1800 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
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1801 CALL GET_INT (STRING, N6) BHERESDRR
1802 TEXT80 (1:KEND)=" ' ! A TEDZEHE#:

1803 END IF

1804 - HEY HEHREMES (FEXES) ORI
1805 IF (INPNEQ==0) NEQ=NEQNOD (NVAL, N6)

1806 IF (INPNEQ==1) NEQ=NVAL | EEAR

1807  l-————— HEOKESE (+,-) OBR-————-

1808 KEQ=INDEX (TEXT80," :") | “:" D{uE

1809 KSTART=KEQ+1

1810 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1811 CALL GET_REL (STRING, SVAL)

1812 IF (OKNEQ. AND. NEQ<=NDOFS) PVEC (NEQ)=PVEC (NEQ) +SVAL ! reference loda vector e
1813 !

1814 GOTO 1000 | TRTOFBEINTZIFEL D ORERS EHRAFRAD
1815 1l [ HEEDHE (GBL:GLOBAL) ]

1816 5000 KEQ=INDEX (TEXT80, =") !EEDHE

1817 - BERBSORR

1818 KSTART=KEQ+1

1819 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1820 CALL GET_INT (STRING, NVAL) ! NVAL-ZX&ES

1821 MENT=NVAL !

1822 - GBL: 7rEREE PA QA PB QB(+,-) DIEE—————-
1823 KEQ=INDEX (TEXT80," :') I “:" D{uE

1824  1-——- FIE®E PA ZRER

1825 KSTART=KEQ+1

1826 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1827 CALL GET_REL (STRING, PA)

1828 - TERE A ZFEW

1829 KSTART=KEND+1

1830 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1831 CALL GET_REL (STRING, QA) !

1832  l—+- RE®E PB £FE

1833 KSTART=KEND+1

1834 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1835 CALL GET_REL (STRING, PB) !

1836  l-——— FIERE 0B ZHEE

1837 KSTART=KEND+1

1838 CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
1839 CALL GET_REL (STRING, QB) !

1840 !



1841
1842
1843
1844
1845
1846
1847
1848
1849
1850
1851
1852
1853
1854
1855
1856
1857
1858
1859
1860
1861
1862
1863
1864
1865
1866
1867
1868
1869
1870
1871
1872
1873
1874
1875
1876
1877
1878
1879
1880

T k) O REICKHEEREN], T4,

BALPQ (MENT, 1)=BALPQ (MENT, 1)+PA | Global PA

BALPQ (MENT, 2) =BALPQ (MENT, 2) +QA ! Global QA
BALPQ (MENT, 3) =BALPQ (MENT, 3)+PB !  Global PB

BALPQ (MENT, 4)=BALPQ (MENT, 4)+QB !  Global QB

GOTO 1000

-——— [ A EDHE (LCL:LOCAL) ]

KEQ=INDEX (TEXT80, '=") !'EESDHME

----- BRBESORM
KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_INT(STRING, NVAL) ! NVAL-EHRES

MENT=NVAL |
——— LCL: #E3AME PA OA PB OB(+,-) DIRER-————-
KEQ=INDEX (TEXT80," ') | " i

-— TE®RE PA ZERER

KSTART=KEQ+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_REL (STRING, PA)

----- FERE QA ZHE

KSTART=KEND+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_REL (STRING, QA) !

-— WE®E PB #HEE

KSTART=KEND+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_REL (STRING, PB) !

- FERE B ZRE

KSTART=KEND+1

CALL GET_EQ_VAL (TEXT80, KSTART, KEND , STRING)
CALL GET_REL (STRING, GB) !

CALPQ (MENT, 1) =CALPQ (MENT, 1)+PA ! Local PA
CALPQ (MENT, 2) =CALPQ (MENT, 2) +QA ! Local QA
CALPQ (MENT, 3) =CALPQ (MENT, 3)+PB ! Local PB
CALPQ (MENT, 4) =CALPQ (MENT, 4)+QB ! Local QB

GOTO 1000

9000

CONTINUE

20/MAI/2013



1881
1882
1883
1884
1885
1886
1887
1888
1889
1890
1891
1892
1893
1894
1895
1896
1897
1898
1899
1900
1901
1902
1903
1904
1905
1906
1907
1908
1909
1910
1911
1912
1913
1914
1915
1916
1917
1918
1919
1920

T b OREICK BEERN,

IF (ELE_LIB=="B2D_LIN") THEN

—- assemble PQELE (ments, 6) to PVEC(ndofs)

DO M=1, MENTS

—ZF MmN ———- debugged and updated 18August2008
PA=BALPQ (M, 1) ;QA=BALPQ (M, 2) ! Global PA QA

PB=BALPQ (M, 3) ;QB=BALPQ (M, 4) ! Global PB QB

debugged 18 August 2008: thanks to CAE SS2008 M4 6 &

CALL GLOBAL_PQ (M, PA, QA, PB, QB) ! PQELE (ments, mdofs) debugged 18Aug 2008

PA=CALPQ (M, 1) ;QA=CALPQ (M, 2) ! Local PA QA
PB=CALPQ (M, 3) ;GB=CALPQ (M, 4) ! Local PB QB

CALL LOCAL_PQ(M, PA, QA, PB, GB) ! PQELE (ments, mdofs)

DO ND=1, MDOFS

NEQ=NEQELE (M, ND) ; PVAL=PQELE (M, ND)

IF (OKNEQ. AND. NEQ<=NDOFS)  PVEC (NEQ)=PVEC (NEQ) - PVAL ! - (33 7A)
END DO ! all element dofs

END DO ! all elements

END IF ! IF (ELE_LIB=="B2D_LIN')

9100

JEt' 0 MERDOEERT
JJ=1

DO J=1, NDOFS

IF (0. TE-15<ABS (PVEC (J))) THEN

JU=JJd+1

WRITE (%, 9100) J, PVEG(J)

FORMAT (' nonzero PVEC(', 15,') ="' E14.5)
END IF
IF (INWAIT/=0. AND. MOD (JJ, 21)==0) CALL WAIT
END DO

END SUBROUTINE DATA_LOAD | miELKHDERTE

SUBROUTINE GET_NAME_EQ_VAL (NAME, SVAL, NVAL)

=N NABC=-879 &
ABCD=-19. 77E-3
DEAZRYT I-Fv
reads only one |ine with NABC=—98707 or BCDF=-0.980E-03

NAME: Z#EZ (&K 6 XFM5HEDHXFF)

%

1t
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1921
1922
1923
1924
1925
1926
1927
1928
1929
1930
1931
1932
1933
1934
1935
1936
1937
1938
1939
1940
1941
1942
1943
1944
1945
1946
1947
1948
1949
1950
1951
1952
1953
1954
1955
1956
1957
1958
1959
1960

T k) O REICKHEEREN], T4,

SVAL : EHFIEH NAME 0> EHEBIET -5
(NAME A EHE D5 E (T ES)
NVAL : Z=8R0%r %0 NAME O EEHEKIET -5
(NAME =R D5 E FES)

IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
CHARACTER TEXT80+80, STRING*80, NAMEx6

3000

CALL READ_LINE (TEXT80)

—— END {TZ&FwARAATZS NAME="END'  and Bibd——-
IF (INDEX (TEXT80, " END" ) /=0) THEN

NAME="END" | EEMIHEE

GOTO 9000 ! Rt

END IF

IF (INDEX (TEXT80, "=")==0) THEN

STOP " error: “=" missed/GET_NAME_EQ_VAL
ENDIF

KEQ=INDEX (TEXT80, '=") | EEDHE&E
—ESNEFOXFS (EH4A) EHRI

KSTART=KEQ-1

CALL GET_NAME_EQ (TEXT80, KEQ, STRING) ! STRING ZD&
STRING+80 M7 AN 5 FeBED 6 XF ZHREL L T NAME*G ~4&#H
DO 2000 K=1,6

NAME (K:K) =STRING (K:K)

CONTINUE

-RBBEOEHE, BEREOZEHEH

CALL GET_NAME_TYP (NAME, INTREL)

KSTART=KEQ+1
CALL GET_EQ_VAL (TEXT80, KSTART, KEND, STRING) ! STRING £

e — EMADEYRL - BRI &Y S

IF (INTREL==0) GOTO 3000

IF (INTREL==1) GOTO 4000

WRITE(6,*) NAME," error: INTREL incorrect/GET_NAME_EQ_VAL
SToP

----- UENBEGLHEHA (XFF) DuE

CONT INUE

E St €210 1)
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1961 CALL GET_REL (STRING, SVAL)

1962 WRITE (6, ) NAME,  :=", SVAL

1963 GOTO 9000

1964 !

1965 4000 CONTINUE

1966 !

1967 ! BRATHEZDIHE

1968 l=========X F o Z R B HYUET -H ===

1969 CALL GET_INT (STRING, NVAL)

1970 WRITE (6, ) NAME,  :=", NVAL

1971 ! FAHIRAHET

1972 9000 CONTINUE

1973 END SUBROUTINE GET_NAME_EQ_VAL !Z&=t NABC=-879 & ABCD=-19. 77E-3 D &EiA
1974 !

1975 SUBROUTINE OPEN_FD_OUT

1976 USE GLOBALOS

1977 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

1978 !

1979 IF (IAFDFL==0) THEN I first opening

1980 OPEN (UNIT=11, IOSTAT=10S, ERR=9998,

1981 1FILE=" C:¥frame05¥frame05_out. txt', ! EE L1z 7740 £&HI
1982 1STATUS=" new’

1983 1ACCESS="SEQUENTIAL",

1984 1FORM="FORMATTED" )

1985 GOTO 1000

1986 9998 WRITE (x, %) I0S,’ error: cannot open C:¥frame05¥frame05_out. txt’
1987 SToP

1988 1000 WRITE (%, %) ' first opened: GC:¥frame05¥%frame05_out. txt’
1989 END IF I first opening

1990 !

1991 IF (1<=IAFDFL) THEN I re-open the existing file
1992 OPEN (UNIT=11, IOSTAT=10S, ERR=9888,

1993 1FILE=" C:¥frame05¥frame05_out. txt', ! EE L1z 7740 £&HI
1994 1STATUS="old", ! $TICHEELTLSREHY
1995 1ACCESS="SEQUENTIAL",

1996 1FORM=" FORMATTED’ ,

1997 1POSITION="APPEND" )

1998 GOTO 1010

1999 9888 WRITE (, %) I0S," error: can not open GC:¥frame05%frame05_out. txt’
2000 STOP
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2001 1010 WRITE (x, %) ' re—opened: C:¥frame05¥frame05_out. txt’

2002 END IF I re—open the existing file

2003 !

2004 TAFDFL=TAFDFL+1 I ShTHRICHE > F=1ET
2005 !

2006 END SUBROUTINE OPEN_FD_OUT

2007 !

2008 SUBROUTINE CLOSE_FD_0UT

2009 USE GLOBALOS

2010 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

2011 !

2012 CLOSE (UNIT=11, IOSTAT=10S, ERR=9999, STATUS=" KEEP" )
2013 GOTO 9000

2014 9999 WRITE(6, ) error: cannot close C:¥frame05¥frame05_out. txt’
2015 STOP

2016 9000 WRITE (6, *) closed: C:¥frame05¥frame05_out. txt’
2017 |

2018 IFDFL=IAFDFL+1 | CATREIZHE o 1=1ET

2019 |

2020 END SUBROUTINE GLOSE_FD_OUT

2021 !

2022 SUBROUTINE CG_FD_INI

2023 USE GLOBALOS

2024 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

2025 !

2026 ! MEARAR DB 1L

2027 ! T2D_LIN & B2D_LIN 0 #IEiRZKDEILIE, RO DIEETZ1TEDT
2028 ! EAMICZRE L subroutine T2D_B2D_INI AfEZ %

2029 |

2030 8000 IF (ICGINI/=0) CALL T2D_B2D_INI ! frame05_ini for Win3D
2031 |

2032 9000 CONTINUE

2033 END SUBROUTINE GG_FD_INI

2034 |

2035 SUBROUTINE T2D_B2D_INI

2036 USE GLOBALOS

2037 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

2038 !

2039 OPEN (UNIT=33, I0STAT=10S, ERR=3333,

2040 1FILE=" C:¥frame05¥frame05_ini.dat’, STATUS=' new’,



2041
2042
2043
2044
2045
2046
2047
2048
2049
2050
2051
2052
2053
2054
2055
2056
2057
2058
2059
2060
2061
2062
2063
2064
2065
2066
2067
2068
2069
2070
2071
2072
2073
2074
2075
2076
2077
2078
2079
2080

3333

3000

T k) O REICKHEEREN], T4,

1ACCESS="SEQUENTIAL", FORM="FORMATTED" )

GOTO 3000

WRITE (x, %) 10S,’ error: can not open C:¥frame05¥frame05_ini. dat
STOP

WRITE (x, *) ' opened: C:¥frame05¥frame05_ini. dat’

R XYZ EEE

DO N=1, NODES

XU=XYZNOD (N, 1) :YV=XYZNOD (N, 2) ;ZW=0.0

WRITE(33," (17,2(X,E15.5))") N, XU, YV, ZW | #im&ES X Y [
END DO

---------- BEREERTHHRES (BERBSEFELLGLY)
WRITE(33," (A)") 'Faces:’

DO M=1, MENTS
WRITE(33," (217,A)") (NODELE (M, N), N=1, MNODES), "." &im&ES
END DO

3344

4000
!

CLOSE (UNIT=33, 10STAT=10S, ERR=3344, STATUS="KEEP")

GOTO 4000

WRITE(6,*) ' error: cannot close C:¥frame05¥frame05_ini.dat’
STOP

WRITE(6,*) " closed: C:¥frame0O5¥frame05_ini.dat’

END SUBROUTINE T2D_B2D_INI

SUBROUTINE LOCAL_PQ (MENT, PA, QA, PB, GB) ! 25/Nov/98
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

! Local ZTHRAT S MAEDRERE (PA QA PB, GB) i 5
| TOEXROEME RS POELE (ment, 6) ZE5ET S

NA=NODELE (MENT, 1) ; NB=NODELE (MENT, 2)
XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2)
XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2)

SP=SQRT(  (XB-XA) * (XB-XA) + (YB-YA) * (YB-YA) )
$S=(YB-YA) /SP; CC=(XB-XA) /SP

PQELE (MENT, 1) =PQELE (MENT, 1) - (2. xPA+PB) *CC+SP/6. 0
PQELE (MENT, 2) =PQELE (MENT, 2) - (2. xPA+PB) *SS*SP/6. 0
PQELE (MENT, 4) =PQELE (MENT, 4) - (PA+2. *PB) *CC+SP/6. 0

20/MAI/2013



2081
2082
2083
2084
2085
2086
2087
2088
2089
2090
2091
2092
2093
2094
2095
2096
2097
2098
2099
2100
2101
2102
2103
2104
2105
2106
2107
2108
2109
2110
2111
2112
2113
2114
2115
2116
2117
2118
2119
2120

T k)Y REICKHEEMRHT], T4, 20/MAI/2013

PQELE (MENT, 5) =PQELE (MENT, 5) - (PA+2. *PB) *SS*SP/6. 0

PQELE (MENT, 1) =PQELE (MENT, 1) + (7. *QA+3. *QB) *SS*SP/20
PQELE (MENT, 2) =PQELE (MENT, 2) - (7. *QA+3. *QB) *CC*SP/20
PQELE (MENT, 3)=PQELE (MENT, 3) - (3. *QA+2. *QB) xSP*SP/60
PQELE (MENT, 4) =PQELE (MENT, 4) + (3. *QA+7. *QB) *SS*SP/20
PQELE (MENT, 5) =PQELE (MENT, 5) - (3. *QA+7. *QB) *CC*SP/20
PQELE (MENT, 6) =PQELE (MENT, 6) + (2. *QA+3. *QB) xSP*SP/60

END SUBROUTINE LOCAL_PQ

SUBROUTINE GLOBAL_PQ (MENT, PA, QA, PB, QB) ! 25/Nov/98
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
!
I Global RTERT P MEEDNEEMRE (PA QA PB, @B) A 5

| TOEXOEMET RS POELE(ment, 6) ZEFHET S
!

NA=NODELE (MENT, 1) ; NB=NODELE (MENT, 2)
XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2)
XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2)

SP=SQRT(  (XB-XA) * (XB-XA) + (YB-YA) * (YB-YA) )
SS=(YB-YA) /SP; CC=(XB-XA) /SP

$S2=88%8S; 6C2=CC+CC; SP2=SP*SP

PQELE (MENT, 1)=PQELE (MENT, 1) - (7. *PA+3. *PB) *ABS (SS) *SP/20
PQELE (MENT, 3) =PQELE (MENT, 3) + (3. *PA+2. xPB) xSIGN (1. , SS) *SS2xSP2/60.
PQELE (MENT, 4)=PQELE (MENT, 4) - (3. *PA+7. *PB) *ABS (SS) *SP/20
PQELE (MENT, 6) =PQELE (MENT, 6) — (2. *PA+3. xPB) xSIGN (1., SS) *SS2xSP2/60.

PQELE (MENT, 2) =PQELE (MENT, 2) - (7. *QA+3. *QB) *ABS (CC) *SP/20
PQELE (MENT, 3) =PQELE (MENT, 3) - (3. *QA+2. *QB) *SIGN (1., CC) *CC2+SP2/60.
PQELE (MENT, 5) =PQELE (MENT, 5) - (3. *QA+7. *QB) *ABS (CC) *SP/20
PQELE (MENT, 6) =PQELE (MENT, 6) + (2. *QA+3. *QB) *SIGN (1., CC) *CC2+SP2/60.

END SUBROUTINE GLOBAL_PQ

SUBROUTINE CG_FD_DEF
USE GLOBALO5
IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)



2121
2122
2123
2124
2125
2126
2127
2128
2129
2130
2131
2132
2133
2134
2135
2136
2137
2138
2139
2140
2141
2142
2143
2144
2145
2146
2147
2148
2149
2150
2151
2152
2153
2154
2155
2156
2157
2158
2159
2160

T k) O REICKHEEREN], T4,

FTERORILISHEZT -4 UVWNOD (NODES, 2) %
TTLDOF (NDOFS) M5 %mT .
NEQNOD (NODES, 3) % 7= (& NEQELE (MENTS, MDOFS) #&#&I= L T,
TTLDOF (NDOFS) /v ItEZERL (U V, W) DA ZEY Y.
EROEREEL,
XYZNOD (NODES, 2),  UVWNOD (NODES, 2), NODELE (MENTS, MNODES)
DEH/REANTITS

UVWNOD=0. 0

IF (INPNEQ==1) GOTO 1000

—— INPNEQ=1 ®i5&: NEQNOD (ND, N6) IZ{EFET E 7% Ly
DO N=1,NODES ! $ RTOHEIRIZDILT

DO N3=1, 2 ! Z0HERD 2 EDLELERIC DT
NEQ=NEQNOD (N, N3) !

IF (NEQ<O. OR. NDOFS<NEQ) THEN !

STOP ' error: NEQ ? /CG_FD_DEF" !

ENDIF

IF (NEQ/=0) UVWNOD (N, N3) =TTLDOF (NEQ) !

IF (NEQ==0) UVWNOD (N, N3)=0. 0 !

END DO | ZD&ET R ®D 3 EDMEZESIICDINT

END DO ! 9 RXTOHRAIZDLT

GOTO 8000

CONTINUE

——————— INPNEQ=1 Dim&
NDOFN=MDOFS/MNODES ! 1 #imd7=Y D EHEN-ZEREHER/ EREAK

NUVW=2 | 1 &1 m oD i B BB D %% (2D)

DO M=1,MENTS | FFERFBS N ZHE

DO N=1,MNODES ! ZMDERH =ZES N(=1, MNODES) ZHE
ND=NODELE (M, N) ! ® HRES N ZHE:

-— COfHiR ND OAEEFHOAEXBESERDH-L
MDF=(N-1)*NDOFN ! (1, MDOFS) @ 5 & A& B H

DO N3=1, NUW ! SimDitEBREIZDNT
NEQ=NEQELE (M, MDF+N3) ! IEELDAEXES EHE

IF (NEQ<O. OR. NDOFS<NEQ) THEN !

STOP ' error: NEQ ? /CG_FD_def' !

ENDIF
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2161 IF (NEQ/=0) UVWNOD (ND, N3)=TTLDOF (NEQ) !

2162 IF (NEQ==0) UVWNOD (ND, N3)=0.0 !

2163 END DO ! SR DIEBREICDNT

2164 -

2165 END DO ! ZEHHimZ&ES (1-MNODES) Z4F7E

2166 END DO ! EHES (1-MENTS) ZH%E

2167 o

2168 8000 IF (ICGDEF/=0) THEN

2169 IF(ELE_LIB=="T2D_LIN') CALL T2D_DEF ! frame05_def for Win3D
2170 IF (ELE_LIB=="B2D_LIN') CALL B2D_DEF ! frame05_def for Win3D
2171 ENDIF

2172 IF (ICGXLS/=0) THEN

2173 CALL XLS_T2D_B2D_DEF ! frame05_xIs for T2D_LIN & B2D_LIN
2174 ENDIF

2175 |

2176 9000 CONTINUE

2177 END SUBROUTINE CG_FD_DEF

2178 !

2179 SUBROUTINE T2D_DEF

2180 USE GLOBALO05

2181 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

2182 !

2183 I T2D_LIN OEMITHELZHBHOEEICT EHL

2184 !

2185 OPEN (UNIT=55, 10STAT=10S, ERR=5555,

2186 1 FILE=" C:¥frame05¥frame05_def. dat’,

2187 1 STATUS="new’,

2188 1 ACCESS="SEQUENTIAL',

2189 1 FORM="FORMATTED" )

2190 GOTO 5000

2191 5555 WRITE (%, %) I0S," error: can not open GC:¥frame05¥%frame05_def. dat ’
2192 STOP

2193 5000 WRITE (%, %) ' opened: GC:¥frame05¥frame05_def. dat’

2194 ! iR XYZ EEE

2195 DO N=1, NODES

2196 XU=XYZNOD (N, 1)+ SCGDEF * UVWNOD (N, 1)

2197 YV=XYZNOD (N, 2) + SCGDEF = UVWNOD (N, 2)

2198 W=0.0 !

2199 WRITE(55," (17,3(X,E15.5))") N, XU, YV, ZW | #nm&ES X Y Z

2200 END DO
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2201 R E— BREZEERTHHRES (BERESEELNLZN!)
2202 WRITE(55," (A)") 'Faces:’

2203 DO M=1, MENTS

2204 WRITE (55," (217,A)") (NODELE (M, N),N=1,MNODES), '.' I!&im&S
2205 END DO

2206 !

2207 CLOSE (UNIT=55, IOSTAT=10S, ERR=5566, STATUS=" KEEP" )

2208 GOTO 6000

2209 5566 WRITE(6,*) ' error: can not close C:¥frame05¥frame05_def. dat’
2210 SToP

2211 6000 WRITE(6, *) ' closed: C:¥frame05¥frame05_def. dat’

2212 !

2213 END SUBROUTINE T2D_DEF

2214 !

2215 SUBROUTINE B2D_DEF

2216 USE GLOBALOS

2217 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)

2218 !

2219 ! B2D_LIN OEMEIFERRAFBDI-HE & o EEMN

2220 ! ibEEZ T UVWNOD (NODES, 2) Dt I—[E1E5F (HA, HB) £ &

2221 ! one E¥x % NCGDEF RRIZHHERH

2222 |

2223 OPEN (UNIT=55, I0STAT=10S, ERR=5555,

2224 1 FILE=" C:¥frame05¥frame05_def. dat’,

2225 1 STATUS="new’,

2226 1 ACCESS=" SEQUENTIAL’,

2227 1 FORM="FORMATTED" )

2228 GOTO 5000

2229 5555 WRITE (%, %) I0S," error: can not open GC:¥frame05%frame05_def. dat ’
2230 STOP

2231 5000 WRITE (%, %) ' opened: GC:¥frame05¥frame05_def. dat’

2232 | nodes 18 % EimdD ELIED EiZ

2233 DO N=1, NODES

2234 XU=XYZNOD (N, 1)+ SCGDEF * UVWNOD (N, 1)

2235 YV=XYZNOD (N, 2) + SCGDEF * UVWNOD (N, 2)

2236 W=0.0 ' 2D

2237 WRITE(55," (17,3(X,E15.5))") N, XU, YV, ZW | #im&ES X Y Z
2238 END DO

2239 IF (NCGDEF==1) GOTO 8000 ! EXRZWHMAHAFILGZL\ & &

2240 - Sl HEH % NCGDEF 5&| % (NCGDEF-1) {0 M ERER =
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2241 NC=NODES I nodes+1, nodes+ments* (ncgdef-1)

2242 DO M=1, MENTS ! for all elements

2243 NA=NODELE (M, 1) ;NB=NODELE (M, 2) ! node A & B

2244 XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2)

2245 XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2)

2246 EL=SQRT(  (XB-XA) * (XB-XA) + (YB-YA) * (YB-YA) )

2247 S=(YB-YA) /EL;C=(XB-XA) /EL

2248 $S=8%S ; CC=C+C ; EL2=EL*EL

2249 MTYP=MATSEC (M)

2250 EA=SECTYP (MTYP, 1) ;EI=SECTYP (MTYP, 2)

2251 - 6 dofs in GBL system ——

2252 UA=0.0; UB=0.0:VA=0.0;VB=0. 0;HA=0. 0;HB=0. 0

2253 IF (OKNEQELE (M, 1) . AND. NEQELE (M, 1) <=NDOFS) THEN

2254 UA=TTLDOF (NEQELE(M, 1))  ; END IF

2255 IF (OKNEQELE (M, 2) . AND. NEQELE (M, 2) <=NDOFS) THEN

2256 VA=TTLDOF (NEQELE(M, 2))  ; END IF

2257 IF (OKNEQELE (M, 3) . AND. NEQELE (M, 3) <=NDOFS) THEN

2258 HA=TTLDOF (NEQELE(M, 3))  ; END IF

2259 -

2260 IF (OKNEQELE (M, 4) . AND. NEQELE (M, 4) <=NDOFS) THEN

2261 UB=TTLDOF (NEQELE (M, 4)) : END IF

2262 IF (OKNEQELE (M, 5) . AND. NEQELE (M, 5) <=NDOFS) THEN

2263 VB=TTLDOF (NEQELE (M, 5)) ; END IF

2264 IF (OKNEQELE (M, 6) . AND. NEQELE (M, 6) <=NDOFS) THEN

2265 HB=TTLDOF (NEQELE (M, 6)) : END IF

2266 ! translations in LCL system ————-—

2267 CUA= UAxC+VAxS;CUB= UB*C+VB*S

2268 CVA=—UAxS+VAxC; CVB=-UB*S+VB*C

2269 | LCL: PA, QA PB, QB converted from GBL: PA, QA PB,QB —-
2270 PA=CALPQ (M, 1) +BALPQ (M, 1) *ABS (S) *C+ BALPQ (M, 2) *ABS (C) *S
2271 QA=CALPQ (M, 2) -BALPQ (M, 1) xABS (S) #S+ BALPQ (M, 2) *ABS (C) *C
2272 PB=CALPQ (M, 3) +BALPQ (M, 3) *ABS (S) *C+ BALPQ (M, 4) *ABS (C) *S
2273 QB=CALPQ (M, 4) -BALPQ (M, 3) xABS (S) #S+ BALPQ (M, 4) *ABS (C) *C
2274 -

2275 DX=EL/FLOAT (NCGDEF)

2276 DO N=1,NCGDEF-1 !  for ncgdef segments

2277 NC=NC+1

2278 CX=DX*+FLOAT (N) :CY=0.0

2279 CALL UO_LCL (CUO, EL, CUA, CUB, CX)

2280 CALL VO_LGL (CVO, EL, GVA, HA, CVB, HB, CX)
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2281 CALL UP_LCL (CUP, EA,EL, PA,PB,CX) ! EA=0.0 for bending_only 01/Feb/99
2282 CALL VQ_LCL (CVQ, EI, EL, QA, GB, CX)

2283 CU=CU0+CUP; CV=CV0+CVQ

2284 CXU=CX+SCGDEF*CU ; CYV=CY+SCGDEF*CV

2285 ! transformed to GBL system —————

2286 XU=XA+ CXU*C-CYV*S;YV=YA+ CXUxS+CYV*C

2287 W=0.0

2288 WRITE (55, " (17,3(X,E15.5))") NC, XU, YV, ZW | R&ES X Y Z 18Aug08
2289 END DO I ncgdef segments

2290 END DO I for all elements

2291 8000 CONTINUE

2292 ! BREZEERTHHRES (ERESEELNLZN!)
2293 WRITE(55," (A)") 'Faces:’

2294 -

2295 IF (NCGDEF==1) THEN

2296 DO M=1, MENTS

2297 WRITE(55," (217,A)") (NODELE (M, N), N=1, MNODES), '." !&im&S
2298 END DO

2299 END IF

2300 IF (NCGDEF==1) GOTO 7000

2301 e BEHRD NCGDEF KD#R7DES :  (NCGDEF-1) D AERET =
2302 NC=NODES ! nodes+1, nodes+ments* (ncgdef-1)

2303 DO M=1,MENTS ! for all elements

2304 NA=NODELE (M, 1) ;NB=NODELE (M, 2) ! node A & B

2305 NC=NC+1

2306 WRITE(55," (2I7,A)") NANC, "." 'RERM HRAES

2307 e

2308 IF (3<=NCGDEF)  THEN

2309 DO N=1,NCGDEF-2 ! for ncgdef segments

2310 WRITE(55," (217,A)") NC,NC+1, '." IhRIXfE &Si=mEs

2311 NC=NC+1

2312 END DO I ncgdef segments

2313 END IF

2314 -

2315 WRITE(55," (217,A)") NC,NB, '.’ | RARXM FAES

2316 END DO ! for all elements

2317 7000 CONTINUE

2318 !

2319 CLOSE (UNIT=55, I0STAT=10S, ERR=5566, STATUS=" KEEP" )

2320 GOTO 6000
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2321 5566 WRITE(6,*) ' error: can not close G:¥frame05¥frame05_def. dat’

2322 SToP

2323 6000 WRITE(6, *) ' closed: C:¥frame05¥frame05_def. dat’
2324 |

2325 END SUBROUTINE B2D_DEF

2326 |

2327 SUBROUTINE UO_LCL (U0, EL, UA, UB, X)

2328 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
2329 |

2330 ! dof effects u0O(x) in LCL system 12APR2005
2331 !

2332 U0= (1. -X/EL) *UA+ (X/EL) *UB

2333 |

2334 END SUBROUTINE UO_LCL

2335 !

2336 SUBROUTINE VO_LCL (VO, EL, VA, HA, VB, HB, X)

2337 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
2338 |

2339 ! dof effects vO(x) in LCL system 12APR2005
2340 !

2341 S=X/EL

2342 Vo= VAR( 2.#SxS+S-3.%SxS  +1.)

2343 T+ ELkHA*( SkS#S-2. *SS+S )

2344 2+ VBk(-2. *SxSxS+3. x5S )

2345 3+ ELkHBx(  SxSkS  -S*S )

2346 |

2347 END SUBROUTINE VO_LCL

2348 |

2349 SUBROUTINE UP_LCL (UP, EA, EL, PA, PB, X)

2350 IMPLICIT INTEGER (I-N), REAL(8) (A-H,0-2)
2351 !

2352 ! load effects up(x) in LCL system 12APR2005
23563 |

2354 IF(EA==0.0) THEN ! for bending only analysis 02/Feb/99
2355 UP=0.0

2356 GOTO 9000

2357 END IF ! 01/Feb/99

2368 l-————

2359 S=X/EL;S6=1. /6.

2360 UP=+ (EL*EL/EA) * ( —S6+SS*S* (PB-PA) I 02 APRIL 2004
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2361 1 -0. 5%PA*S*S I 02 APRIL 2004
2362 2 +S6% (2. *PA+PB) *S ) | 02 APRIL 2004
2363 !

2364 9000 CONTINUE

2365 -

2366 END SUBROUTINE UP_LCL

2367 !

2368 SUBROUTINE VQ_LCL (VQ, EI, EL, QA, @B, X)

2369 IMPLICIT INTEGER (I-N), REAL(8) (A-H, 0-2)

2370 !

2371 ! load effects vg(x) in LCL system 12APR2005

2372 !

2373 S=X/EL ; SVAL=EL*EL*X*X/ (120. #EI)

2374 VQ=SVAL* (QA* (—S*SxS+5. xS*S-7. *S+3. )

2375 1 +QB* (SxS*S-3. *S+2.)) ! updated 18July2006
2376 !

2377 | thanks to #(7 344 SS06 ; corrected from +QB* (SkS*S-3. *SxS+2.))
2378 !

2379 END SUBROUTINE VQ_LCL

2380 !

2381 SUBROUTINE XLS_T2D_B2D_DEF ! 27/JAN/2005

2382 USE GLOBALO05

2383 IMPLICIT INTEGER (I-N), REAL(8) (A-H, 0-2)

2384 !

2385 ! B2D_LIN OEHMEIFHBRAFBDI=HBE & 2 EES

2386 ! IbEEZ T UVWNOD (NODES, 2) Dt I—[EIE5F (HA, HB) £ &
2387 | one %% NCGDEF RRIIZHHERH

2388 |-

2389 OPEN (UNIT=55, 10STAT=10S, ERR=5555,

2390 1 FILE=" C:¥frame05¥frame05_xIs. xIs’,

2391 1 STATUS="new’,

2392 1 ACCESS="SEQUENTIAL',

2393 1 FORM="FORMATTED" )

2394 GOTO 5000

2395 5555 WRITE (%, %) 10S,’ error: can not open C:¥frameO5¥frame05_xIs. x|s’
2396 STOP

2397 5000 WRITE (, %) ' opened: GC:¥frame05¥frame05_xIs. x|s’

2398 - BRIEICHROHRD XY EEZEESHT (BEREEROMICEAT) —
2399 DO M=1, MENTS ! for all elements

2400 WRITE(S5,” (A)") " ' | =BT (BEZROYINE)



2401
2402
2403
2404
2405
2406
2407
2408
2409
2410
2411
2412
2413
2414
2415
2416
2417
2418
2419
2420
2421
2422
2423
2424
2425
2426
2427
2428
2429
2430
2431
2432
2433
2434
2435
2436
2437
2438
2439
2440

NA=NODELE (M, 1) ;NB=NODELE (M, 2) ! node A
XA=XYZNOD (NA, 1) ; YA=XYZNOD (NA, 2)
XB=XYZNOD (NB, 1) ; YB=XYZNOD (NB, 2)
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& B

EL=DSQRT (  (XB-XA)* (XB-XA) + (YB-YA) * (YB-YA) )

S=(YB-YA) /EL;C=(XB-XA) /EL

SS=8%S; CC=C*C; EL2=EL*EL
MTYP=MATSEC (M)

EA=SECTYP (MTYP, 1) ;EI=SECTYP (MTYP, 2)

XUA=XA+ SCGDEF =+ UVWNOD (NA, 1)
YVA=YA+ SCGDEF * UVWNOD (NA, 2)

WRITE (55, " (15, “>nodeA”, 4E15.5)") M, XA, YA, XUA, YVA I XUA YVA

IF (NCGDEF==1) GO TO 8000
IF(ELE_LIB=="T2D_LIN') GO TO 8000 ! for

| ERZHNEHE|ILALVEE go to node B
T2D_LIN go to node B

e &I £EHK#%E NCGDEF £&] 9% (NCGDEF-1) f& D AERHi 2
e 6 dofs in GBL system -——-

UA=0.0; UB=0.0;VA=0.0;VB=0. 0;HA=0.0;HB=0. 0

IF (OKNEQELE (M, 1) . AND. NEQELE (M, 1) <=NDOFS)
UA=TTLDOF (NEQELE(M, 1))  ; END IF

IF (OKNEQELE (M, 2) . AND. NEQELE (M, 2) <=NDOFS)
VA=TTLDOF (NEQELE(M, 2))  ; END IF

IF (OKNEQELE (M, 3) . AND. NEQELE (M, 3) <=NDOFS)
HA=TTLDOF (NEQELE(M, 3))  ; END IF

IF (OKNEQELE (M, 4) . AND. NEQELE (M, 4) <=NDOFS)
UB=TTLDOF (NEQGELE (M, 4)) ; END IF

IF (OKNEQELE (M, 5) . AND. NEQELE (M, 5) <=NDOFS)
VB=TTLDOF (NEQELE (M, 5)) ; END IF

IF (OKNEQELE (M, 6) . AND. NEQELE (M, 6) <=NDOFS)
HB=TTLDOF (NEQELE(M, 6)) ; END IF

translations in LCL system
CUA= UA*C+VAxS;CUB= UB*C+VB*S
CVA=—UA*S+VAxC ; CVB=—UB*S+VB*C

THEN

THEN

THEN

THEN

THEN

THEN

| LCL: PA, QA, PB, QB converted from GBL: PA, QA PB,QB —

PA=CALPQ (M, 1) +BALPQ (M, 1) *ABS (S) *C+ BALPQ (M, 2) *ABS (C) *S
QA=CALPQ (M, 2) -BALPQ (M, 1) *ABS (S) #S+ BALPQ (M, 2) *ABS (C) *C
PB=CALPQ (M, 3) +BALPQ (M, 3) *ABS (S) *C+ BALPQ (M, 4) *ABS (C) *S
QB=CALPQ (M, 4) -BALPQ (M, 3) *ABS (S) #S+ BALPQ (M, 4) *ABS (C) *C
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2441 -

2442 DX=EL/FLOAT (NCGDEF)

2443 DO N=1,NCGDEF-1 !  for ncgdef segments

2444 CX=DX*FLOAT (N) ;CY=0.0 ! element coordinates (x,Y)
2445 CALL UO_LCL (CUO, EL, CUA, CUB, CX)

2446 CALL VO_LCL (CVO, EL, CVA, HA, CVB, HB, CX)

2447 CALL UP_LCL (CUP, EA,EL, PA,PB,CX) ! EA=0.0 for bending_only 01/Feb/99
2448 CALL VQ_LCL (GVQ, EI, EL, QA, GB, CX)

2449 CU=CU0+CUP; CV=CV0+CVQ

2450 CXU=CX+SCGDEF*CU ; CYV=CY+SCGDEF*CV

2451 ! transformed to GBL system —————

2452 XU=XA+ CXU*C-CYV%S ; X=XA+ CX+C-CYxS

2453 YV=YA+ CXUxS+CYV*C ; Y=YA+ CX*S+CY*C

2454 WRITE(55," (111,4E15.5)") N, X, Y, XU, YW ! XU YV
2455 END DO ! for all (ncgdef) segments

2456 !

2457 8000 CONTINUE ! for node B

2458 o node B

2459 XUB=XB + SCGDEF * UVWNOD (NB, 1)

2460 YVB=YB + SCGDEF * UVWNOD (NB, 2)

2461 WRITE (55, " (15, “>nodeB”, 4E15.5)") M, XB,YB, XUB, YVB ! XUB YVB
2462 !

2463 END DO ! M for all elements

2464 !

2465 CLOSE (UNIT=55, I0STAT=10S, ERR=5566, STATUS=" KEEP" )

2466 GOTO 6000

2467 5566 WRITE(6,*) ' error: can not close C:¥frame05¥frame05_xIs. xIs’
2468 STOP

2469 6000 WRITE(6, *) ' closed: C:¥frame05¥frame05_xIs.xIs’

2470 !

2471 END SUBROUTINE XLS_T2D_B2D_DEF ! 12APR2005

2472 !

2473

2474

2475 Oframe05.exe DfEMTHERN G, FEHITHREIND,
2476 Oframe05.f90 DEIE b FH HE OEIEITK D,
2477




